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COST ACCOUNTING 8B |age and defective 7
te, SP , i ,
Q5.  Give the meaning and treatment of scrap: WE:E m the materials Uftiir '”mg"ezr:i‘;aﬂlunng
Ans. a) Scrap : It is an incidental I ES;iL;iEis :gﬂﬂ"’erahle wngu:;u reSPEHEibi"t? %E‘f be
operations, usually s ;aa[rlées for scrap MaY ?rf gerap report may be prepareq
zﬂlr cn!‘ltrc: f?}?rsgrsaeflsb:tsgpartrnents. functions. €%
etermine
and remedial action should DEEEEESE of accounting f szﬁ:ﬂ
There are mainly three m ofit and LOSS cC ' tution costs. credit
1. Sale value of SCZP crledltfjut: I:J"erus its selling and distrib ed to
2. Net value, ie. the saies ible for scra
Overheads A/C. . credited to job or prf‘JCE‘_SE rEiEPTF;? which Evapgl:atES
3. Scrap value real;sednl?er'rgf -aw material which IS either los or
b) Waste : Waste is that poriio .
} shrinks in @ manufacturing process. art of the cost of production and tptal Cost
The cost of normal waste is treated as Ft Jt i.e. the units of good production only.
incurred is distributed over the reducec mlI pdeﬁ t-om the total cost and taken to Profi
The cost of abnormal waste should be exclu
and Loss Account. - d is so damaged that it i
: lity standard and 1S titis
¢) Spoilage : Production thal does not ?EEInguiaﬁ dhiispDEEd of without further processing is
not capable of rectification economically a | spoilage is reated as a part of the cost of
known as spoiled material. The cqst ufdnuGETnut I;]urrn a part of the cost of production angd
p;;mT; tEn' CT t Dz,;b[:gné?;;ﬁ;“g?:ﬁl and Loss Account. A spoilage report should be
should be written ;
prepared and steps may be taken to control any abnormal spoilage. ficati it
: b ion or qu
d) Defectives : This is the production which is below standard speciiica p quality but
which can be reworked by additional applications of material, labour and processing and
made into saleable condition. The additional cost to be applied to a defective product is
known as Rectification Cost or Re-operation Cost.
Where the defective oroduction is inherent in thg process of maanaqturing ;nd can be
identified with specific jobs, the cost of rectificaiion is charged '_m sp_eclﬁt_: jobs. If it cannot be
identified with specific products or jobs, the cost of rectification is charged to the
manufacturing overhead.
But if the defective production is due to the fault of a particular department, the cost of
rectification is directly charged to that department.
If the aefectives arise due to the wrong instruction from the customer, it is charged to the job
account and recovered from customer.
If the defectives arises out of abnormal circumstances, th ification i
. the cost of r
to Profit and Loss Account. ectification is charged
Q.6. Discuss the advantages and disadvanta -
ges of centralised i :
Ans.  Purchase may be centralised or decentralised. purchasing of materials.

purchase department which makes all purcha

| Ses
In decentralised purchasing, each department
HD?‘#EHEF. most businesses operate of central
satisfactory arrangement.

In centralised purchasing, there is only one
_uf all typels of raw materials and other items.
IS authorised to make its own purchases.

units are located in different cities o af jong dist chasing may suit where different production

fdv;nrages of Centralised Purchasing : ances from each other.
- EXpert purchasing possesses -«
knowledge and skill may be deriv;;veral advantages. These are of specialised

payment, cost of delivery, etc.

It effects economy in th
: eus
Effective control over | b staff, dCCommodation




NTING
70sT accol -
pisadvantages of Centralised Purchasing -

AnS-

1 The njain disadvantage of
administration cost and sma||
Centralised purchasing is

Centralise

rent basic raw materia?fms are located far away from

Write short notes on following :

4 BinCard 2. Bill of Materials

5. Material Transfer Note 6. 3.Material

R i ya )
et - Natadia Material Raturrfﬁltgf;uu“ Note Imprest system of Stores
in Card : Matenal ar ' .
. Emde out for each t:p?ﬁtf " appropriate bins, drawers of other containers. A bin card
issued and In stock. Maintaini atEnE-“' It shows quantities of each materi l‘ ived
‘ + sh ' ININg a bin card is not a AR TECelvay,
such, but it shows the quantity of part of the accounting record as

: each ial i :
<tores ledger in the accounting departml-l:ttenm In hand at all times and is a check on the

Bin Card

—— = b ST T -
Description BnNO. .o

lllllllllllllllllllllllllllllll

Issued

R
Quantity | S.R.No. emarks |

Quantity Audit Notes &

- i I— - - -

2 Bills of Materials :

sometimes all the materials required for a particular job are listed by the production
department on a single document which is known as & Bill of Materials. When the job
is started, all the materials listed on the bills are sent to the production department.

Bill of Materials .
' T——
dely Oer 1= 0 )1
Code No. Quantity or Rate Amount
item No. Description Welght 7 <
Officer
Drawing office Storekeeper Account OIHCE
3. Materials Requisition Note : sed and record the issu€ of materials from

is used to authori

ssue materials on the presentation of duly

It is a document which

hould i hat this is a key
store. The storekeeper S hould be ap oreciated that this
authorised Stores requisition ' T 4 serves the dual purpose of -

document in virtually all closing systems an

a) authorising the storekeeper to lss:
b) providing @ written record of usag




If materials received from

material

COST ACCOUNTING L N NOTE
MATERIA Date
Job No. —Guantily Rafta _L?EEP
Department : —Code
S/ ?\m Description Materia! c — T
—
EntergF’ ig . Department incharge |
In :
Stores Ledger - comtion is to h
System of Stores . suit, the ideal soluti 0 E\{E a
* 1::f*:’Ill:::a.-rr‘Fiubrslr‘ﬂaJ;i’nt.Elining a central s_ture does snt::“ may be used which operates in 3
central store with sub-stores, |mpreh5t sztem Under the imprest system of storeg
similar way as an imprest petty cas 5?5 made to the sub-stores at the end of g
replenishment of each item of slur[eiEI e ised to the predetermine d level, This
specified period so thal the stock le S I ahould be equal to the quantity of
means quantity of material t0 be repleni
material issued during the period.
5.  Material Transfer Note: \ or Job to another within the
' iransferred from one department _
::l:r ?sit:;?; ?I-ru:n material transfer note should be raised. It is a record of the transfer
ufgmaterials'bemeen stores, cost centres or cost units showing all data for making
necessary accounting entries. A specimen of Material Transfer Note I1s given
MATERIALS TRANSFER NOTE
Transfer from : Sl. No.
Transfer to Date :
SI. No. Description | Material Code Quantity Rate Value
No. -4 F
Issuing Dept.
Receiving Dept.
6.  Material Return Note : g Uep

the stores is not of suitable quality or if there is surplus

rMﬂfﬂﬁﬂft;;ﬂ;:;lf;?nrith }he dgpartmenl, they are returned to stores with a note called
€ evidencing return of material from Department to Stores |

Date of return : WATERIALS RETURN NOTE
Sl. No.
>l No. Description Material Quanti Dale .
Code ntity Rate Value

'd <
Returning Dept. T ——
I Store Keeper

i

_
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AHE-:

Q8.

Ans..

issue of mater; he :
the IS * als from stores 7 selection of g particular method of pricing

: Pricing issu ‘
selection of a proper method, T Sues of materials. The _
the decision with regard to the sl?efgilﬂwmg are the e problem arises about the
4. Frequency of receipts ang

. ISsue transacti
Extent of price fluctuations. actions.

2.
3. The \f:lllff of material cost in Proportion to total product cost
4. Whether issues can be identifieg with purchased | |
) ots.

Policy regarding the valuatio :
: n of "
a different value for the stock. Of closing stock. This is because each method causes

6. Type of costing system in use,

7. Customs within the industry. i .
industry. Y. \.e. the method being adopted by other firms in the same

Explain FIFO and LIFO method of pricing of i -
of is :
would you recommend in rising prices ar?d 1murh1,r$'_?l'jIE of materials ? Which of these mathods

First In First Out (FIFO) .

This metr;}il_s tt:\perates under the assumption that the materials which are received first
are issued first and, therefore, t.he flow of cost of materials should be also in the same
order. In other words, the materials issued are priced at the oldest cost price listed in the

store ledger account and consequently the materials in hand are valued at the price of
the latest purchases.

Advantages:

1. The method is realistic in so far as it assumes that materials are issued to production
in the order of their receipts.

2 The valuation of closing stock tends to be nearer current market prices as well as cost.
3. Being based on cost, no unreleased profits enter into the financial result.
4. The method is easy to operate if the prices do not fluctuate very frequently.

Disadvantages .
1. The issue price may not reflect current market prices and, therefore, in times of rising

prices, the charge to production is unduly low.

2 The cost of consecutive similar jobs may diffenj simply because *the prior job
exhausted the supply of lower priced stock. This renders comparison between

different job difficult.
Last In First Out (LIFO) :

This method operates on the
first for production and the e
FIFO.

Advantages : s close to the current market prices.

1. The method keeps the value of ISSU€  the C "
2. Unrealised profit or loss is usually made by using this metho

Disadvantages : 4o di from the current market value and
: be quite different iro
1. The value of closing stock M@y = DOSES.
hence may not be accep! iy ti.?-l"i P r::ir of materials.
2. This method does not con , is generally considered better.
Under conditions of rising market prices. ect effect of current prices is

This is so because under LlF? mnE;FEg
reflected in the cost and the cOS 1S

assumption that the latest receipts of materials are issued
arlier receipts are issued last, i.e. in the reverse order to

reasonably COIf
derstated.

— = e = = - __-"_I——-____—__
.
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Q.10.
Ans.

Q.11.

Ans.:

Q.12.

Ans.:

Q.13.
Ans.:

urchase 7 What aré it

urchas
" P rhe main advanta

the
reducead.
ages are e price

What is Just in Time (JIT) p

Just in Time (JIT) purchases means t
delivery immediately precedes their usag
(1) It results in cost saving. for example.

material handling and break

(2) Due to frequent purchases 0
the replacement price. As such,

becomes less important.
eries to as many

3) It attempts to extend daily deliv )
) spend less time in warehouses hefore they ar€ e

is likely to be very close to

| the issu uing matenal issueg

w material, .
fra the method of pricing

for val

ossible SO that the goods

ventory holding and inventory

- fin
A factory uses 4,000 varieties of muent;:;yd _In terms O
ing information is compliett
gty ﬁ%"nwmg 9 o Value of inventory % Vah{e of inventory
N%qu vVar::’t;f ’ & holding (usage) usage (in erisd-pmduct)
inven
3,875 96.875 gg 10
110 2.750 o
_15 0.375 50 -85
4,000 100.000 100 100
ABC analysis with reasons.

Classify the items of inventory as per ‘ *
Under ABC Analysis, the items in inventory are classified according to the value of

usage. In this question, the classification is done as follows :

Class ‘A’ : It constitutes the most important class of inventories so far as the prﬂpnrtiun of
total value of inventory is concerned. In this question, class A inventory consists of 15
varieties of inventory because it carries 50% share in total inventory value and 0.375 % in
total varieties of inventory. Class A inventory requires strict inventory control system with

constant attention by purchase and stores department.
Class ‘B’ inventory : It constitutes an intermediate position in which the inventory is neither

very expensive nor very cheap. Quantity-wise also, they are neither few nor many. In this
question, class B inventory consists of 110 items because it carries 30% share in total
inventory value and 2.75% in total varieties of inventory. These items require formalized

inventory system and periodic attention by purchase and stores department.

Class ‘'C' inventory: It constitutes a large number of items which i .
. of 42 | ch is also very cheap. In this
gg;ﬁllﬂn. class ‘C’ inventory consists of 3,875 varieties of inventory be::yause ii; carries

0 shares in total inventory value and 96.875 % in total varieties of inventory. The items

In this class requires only relaxed inventory control.

Define VED Analysis.

Here V stands for vital items and their stock ' :
out of ituation wi . analysis requires m -
ot of sk stuaton Wi sl n Scppage o podcion £ ease. e v
system would not fail. Care essential for efficient running but without th o "a e
for desirable items which dnn;i?t be taken to see that they are always i o b I
affect the production immediately byt ;Z:}”E'.‘I:tf o

llability of suc

items will lead to more effici
lems \ ency a -
intensive process industries. Vandless fatigue, VED analysis can very useful to capital

Defi
ine Perpetual Inventory system What are its advant
ntages.

Perpetual Inventory S
of Materials is ma?r: ta%ﬁézn; yUtr:]cLe; tlhls System  a continuoys record
ores d : rd of receipt and issue

of material is always available

The entries are made in Bin Cards ang
S

issues of materials take pf ores |
_ a e ed
materials, place and ascertalnlng the ba?:rricaesa?tnd woen the Facepis anc
€r every recej '
pt or issue of

 ’
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Advantages:

Lk

Q
e

This system avoids .
stock taking. the disruptions to .
g Production or trading caused by th iodi
y the periodic

This system facilitates Production pi
annin

It help In having a detailed and more rel g and inventory control.
I

able check on the stocks.

a.14. pefine continuous stock-checkin
g. What are its a
dvantages

ANS.: Under this system, physi
continuous basis. It is Lh;;' Easlto;

k Vv +gon . .
erfication is made for each item of stock on

: : hecki
contiguous basis. Ing of the stock records with actual stocks on

CIMA defines “continuous stock tzkin

g is the process of counting and valuing selected

items at different times on a rotating basis”

It is a method of verification of i
. ' physical stock ~ .
of the accountin : b on a continu
g period. It is a verification conducted munudufhza:;rm?;ﬁzdcg:ea:lI:gee?;ﬂ

itern of store twice or thrice, V i
_ . Valu
with lesser value. able items are checked more frequently than the stocks

Advantages:

ok

OO0 ©OC

Any discrepancies, irregulariti
- es or
o the notice of management. or changes are detected at early stage and brought

It gclfs as a moral check on stores staff and acts as a deterrent to dishonesty.
It insists on up-to-date maintaining of stock records
It is carried out by independent staff from ' i - ties |
: store ke
stock taking. epers avoiding any irregularities in
The disruption in production caused by periodic stock taking is eliminated.
Control Dvgr stock is improved by eliminating over stocking or running out of stock.
More time is available, reducing errors and allowing time for investigations.

Regular skilled stock takers can be employed, reducing likely errors.

Q.15. Define periodic inventory system. What are its advantages.

Ans.. Periodic Stock Taking System-
internals e.g., at the end of every mon

The aim of periodic stock
types that are physically €O

Advantages :
(1) Itis much less costly as compared

(2) Stock taking becomes

Q.16. Explain, why the Leas!
any other method of pric

Under this system the stock levels are reviewed at fixed

th or three months.
taking is to find out the physical quantities of materials of all

unted at a given date.

with perpetual stock-taking.
od affair, thereby, it does not become a

siness affairs are carried on.
er First in First Out (FIFO) or

‘once in a peri

hindrance in the period in which normal bu

in First out (LIFO) has an edge ov
ing material ISSU€s.

Ans.: ' vantages. .
LIFO has following 20v2 ’ ed will be reflecting the current market price.

(a) The cost of the materi
(b) The use of th

(c) In the case of falling PrmETn-?are competitive 3

(d) During the period

al issu t reflect undue high

e method during the

profit in the Incom= ststemer fit tend 10 rise due t0 lower rnat_erial cost, yel the
0 nd are at market price.

how the correct profit.

period of rising prices does no

pear to be

finished goods ap |
of inflation.

LIFO will tend t0 5

-—
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LEMS
REVISIONARY PROE
follows: each
Q.1. Two components X and Y are us?d as nﬁﬂu > its per weE:: e
Normal usage j 900 units per ok cach
i mum Usew ~ 300 units PEF WELT 2 500 units
Minimum usage X 4,800 units, v 204 weeks
Re-order quantity i X 4106 weeks,
Poa-relec pATE* F verage stock level.
Calculate for each cn?;;;up;\_eprt:; Clevel (€] Maximum level A
(a) Re-order level Ll
ot Y = 0 units
Ans.: (a) X = 5,400 units; Y 3,60 .
{ (b) X = 2,400 units; Y = 1,800 units
(c) X = 9,000 units; Y = 10,200 units
(d) X = 4,800 units; Y = 5,400 units "
Using the formula: Vinimum Stock level + % (Re-order Quant] y)l

Q.2

Q.3.

[Ans.: (i) 300 units; (i) 440 units (Mini
S, inimu -
(ii) 150 units; (iv) 60 units) " consumption rate = 10-units per day];

Q4.

Average Stock level = |
f three raw materials M.N and O. Each unit of Zee

: out 0 . . r levels of M and

‘rz:ﬂeuilrseﬂa F{;nsguctanggﬂiﬂd‘-‘-té"f; of M, N and O rﬁﬁpect‘h’iﬂﬁ; T:u;? 2; cg is 2,500 kg. The
« and 10.000 kg. respectively while min e production i

ﬁefﬁ; s}ggg;&?{na:fdzi variesgfrnrn 300 to 500 units while weekly average p S

400 units. You are required to compulte:
() Minimum stock level of M.

(i) Maximum stock level of N, and

(i) Re-order level of O.

The following additional data is given:
M N O

Re-order quantity (in kg.) 20,000 15,000 20,000
Delivery (in weeks) .

Minimum 2 4 3
Average 3 5 4
Maximum 4 6 S

[Ans.: (i) 3,000 kgs.; (ii) 15,400 kgs; (iii) 15,000 kgs.]

From the details given below, calculate:
() Re-ordering level (iii) Minimum level (i) Maximum level (iv) Danger level

Re-ordering quantity is to be calculated on the basis of following i .
. owin -
Cost of placing a purchase order is Z 20. g Information:

Number of units to be purchased during the year is 5,000
Purchase price per unit inclusive of transportation cost is ? o0
gnnual cost of storage per unitis ¥ 5. |
etails of lead time: Average 10 da ‘
; ys, Maximum 15 days Mini
For emergency purchase 4 days. i SRS § dage,

Rate of consumption: Average: 15 units per day, Maximum: 20 units d
. per day,

(a) From the following information, find oyt

Annual consumption the Economig Order Quantity:
Cost i 12,000 ynj A
per unit units (360 days)
Ordering cost : 12
entory carryin Per order
Normal lead tri}r;eg charge 24%,
Safety stock 15 days

— 3G days cunsumptiun

e
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(b) glsn find out (i) when shoulg
inventory Ieveﬂ! Irnmediately betfg?entl:Er be placed
. (a) EOQ = 1,095 units, € ordered ma

AnS. . = :
[ (b) () Re-order level = 1,500 units; (jj) Safety Stock

' Alds C = 1,000 units],
Medica s Co. manufactures a . ]
.5 collected for the year 1998: Special product "AID". The following particulars were
(@) Monthly demand of AID X _
(b) Cost of placing an order ) ;.DUD units.
(C) Annual carrying cost per unit ) : 12[}.
(d) Normal usage ] 50 units ber waek
(e) M|n|_;mum usage ) 25 unit P ee‘.
f) Maximum usage _ S per weex.

75 units per week.

-order peri
(g) Re period _ 410 B 'wedke

Ccompute from the above:
(1) Re-order Quantity; (2) Re-order Level: (3) Minimum | |

] L .
(6) Average Stock Level, ) evel; (4) Maximum Level;

aAns.: (1) 186 up."ts (Total consumption = 52 x 50 = 2 600 units:
{ (2) 450units; (3) 200 units; (4) 536 units]. units,

Q6.  M/s Tubes Ltd. are the manufacturers of picture tubes for T.V. The following are their
details during 2011 :

Average monthly market demand 2,000 tubes;
Ordering cost T 100 per order;

Inventory carrying cost is 20% per annum;
Cost of the tube is T 500 per tube;

Normal usage is 100 tubes per week;
Minimum usage is 50 tubes per week;
Maximum usage is 200 tubes per week;

Lead time to supply 6 to 8 weeks.

® NN

Compute:
(i) Economic Order Quantity. JAns. 102 tubes]

(i) If the supplier Is willing to supply 1,500 units at a discount of 5%, is it worth accepting.
[Ans. It should be accepted]

(i) Maximum stock level. [Ans. 1,402 tubes]
(iv) Minimum stock level. [Ans. 900 tubes]
(v) RE-order level. fAns. 1,600 tubes].

JM-/ The following data are available in respect of material X for the year ended 31* March, 2011:
-
B 4

: 90,000
ock '
Opening i 2 70,000

Purchases during the year 10,000
Closing stock 1,10,

- r ratio; and .
caloulate: E:l}} :;:E:L:;rg;?;u;:ys for which the average inventory is held.

[Ans.: 2.5 times; 146 days]

] ) -
"l p

i —
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Q.8. |f the minimum stock level and ﬂ”mﬂg;
respectively, find out its re-order qua

[Ans.: 10,000 units}) quan tity
ic order
Q9. A company is deciding on the economic
t information : B
following is the relevant in A bags
2,000 bags 1280 P00

Demand 71,200 :

Ordering cost per order ) ¥ 480 560

carrying cost per bag ®)

Required: s and 80 bags]

B. [Ans.100bag _ |

(1) Compute EOQforAandB. [ dering costs and total annual caryn,

i f the total gnnual 0
2) For the EOQ, what is the suMm 0
N cost for Aand B. [AnS. 748,000and ¥ 44,800)

For the EOQ, compute the number of deliveries
and 16 orders.]

per ye.ar for A and B. [Ans.: 20 orgepy

ganisation has received an offer of quantity discount g

Q.10. The purchase department of your oOf
its orders of materials as under .
Tonnes

Price per tonne .
pe Less than 500

1,400
T 1,380 500 or more but less than 1,000
‘ 1.000 or more but less than 2,000

T 1,360
T 1,340 2.000 or more but less than 3,000
1,320 3.000 or more

The annual requirement of the material is 5.000 tonnes. The deliuery‘cust per order is T 1,200
and annual stock holding cost is estimated at 20% of the purchase price.

The purchase department wants you to consider the following purchase options and advise
among them which will be the most economical order quantity. The purchase quantity options
to be considered are 400 tonnes, 500 tonnes, 1,000 tonnes, 2,000 tonnes and 3,000 tonnes.

{Ans.: 1,000 tonnes].

Q.11 You are given below the following information relating to use of a material in production :

Standard Actual
Input of material 12 Kg. 2,000 Kg.
Material content in final product 10 Kg. 1I600 Kg

Cost per Kg. of material ¥ 20

Calculate : (i) Standard input-output ratio, (ii) Actual Input-output ratio, (jii) Standard and

Actual material cost per unit of fi :
efficiency. _ inal product, and (iv) Comment on the over-all level of

Ans. [()X120% ; (i) 125% ; (i) 2 24 and 2 25]

Q.12 A factory received a carton containing two materials ‘X' and ‘Y’

materials discloses the following details The invoice relating o the

-
L

Material X 400 kg. @ ¥ 10 per kg. ¢
Material Y 600 kg. @ T 15 per kg. 4,000
-9.000
Sales tax @ 5% 13,000
Insurance @ 1% 650
Freight and handling charges 130
220

= 14,000
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Hlndifnn of these materials in the fact CA R K. MEHTA |
kgs. of material Y. At ory resulted |
whet rae issl.leu;gn:‘: :1:;:;: t:nnmig’jobnf mtarial » ﬁ;ﬁg
s 7 Also give

Ans. 0 be made for probable obsolescence.
Issué rate “.hﬂll X Materia 1Y
(Without obsclescence) t11.10 ?16.68
|ssue rate
(after obsolescence) ¥12.33 21853

Q13 The particulars relating to the
1997 are given mmng import of Sealing Ring invoiced by AB & Co., during December

(a) Sealing Ring — 1,000 pieces @ £2 CIF Bombay Port

(b) Custom duty was paid @ 100% on |
by adopting an exchange rate niT;gm:ﬂm INRIEh sl o Rchd W, i e

(c) Clearing charges — 2 1,800 for the entire consignment.

{d} Ff'Elghl Chafgﬁﬁ -214
Oromises.. /400 for transporting the consignment from Bombay port t0 factory

it was found on inspection that 100 pieces of the above matenal was brnhén and, therefore,

rejected. There | .
be admissible E': no 5;:;: value for the rejected part. No refund for the broken material would
per the terms of the contract. The management decided to treat 60 pieces

as normal loss and - |
. o the rest 40 pieces as abnormal loss. The entire quantity of 900 pieces was

Calculate.
(a) Total cost of material and (Ans. ¥1,83,200)
(b) Unit cost of material issued to production. (Ans. T 194.89)

Also state briefly how the value of 100 pieces rejected in inspection will be treated in COStS.

Q.14. A company provides following information in respect of a matenal :-
(1) Supply Period : 510 15 days.
(2) Rate of consumption
« Average 15
# Maximum 20 units per day
# Yearly 5,000 units.

(3) Ordering Cost is T 20 per order
(4) Purchase price IS T 50 per unit.

(5) Storage Cost is 10% of purchase price.
Compute (1) Re-order level

(2) Minimum level

(3) Maximum level.

[Ans. (1) 300 units (i) 150 units (iif) 450 units.]

ine. A fixed cost of 50 per order is
cost per item amounts to T 0.02 per

Q.15. About 50 items are required every day for a mach
incurred for placing an order. The inventory carmying

day. The lead period is 32 days. Compute:
(i) Economic Order Quantity. and
(i) Re-order level.

[Ans. (i) 500 units (il) 1600 units)
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f makes was purchased for X 40,000
s O

gories.

Q16. A large consignment of material of various type

’ ; ate
Later on these were sorted out into the followind ¢ ce T 4 per unit

Market pri |
Category A 6,000 units Market price % 3 per unit
Category B 4,000 units Market price Z 2 per unit.
wategory G 7,000 U e for each of the materials presuming that

You are required to calculate the *purchase ;;rlﬂ
percentage of profit in each case In the same.

Ans % 3.2,2.4 and 1.6
fived by the company is 300 units. The

Q.17. In a company weekly minimu "
issue of supply order. Calculate minimum

units respectively. The re-order quantit;«|r as
material is received within 4 to 6_week5 rom
level and maximum level of material A

[Ans. 200 units and 650 units]

able level whi
Q.18. Determine Maximum Stock and Buffer Stock to keep stock at a reason hile

providing a good service where: Vaximum | Pa— Minim_um
Daily Consumption 75 units 520dual'llt: ;? zgl;s
Delivery Period 5 days y

Uni
Ideal Order Size = 125 ts
Re-order Level = 375 unils.

[Ans. 475 units and 275 units]

Q.19. The inventory records of Suneel Brothers, Delhi, for the year 1998 show the following

figures:
Opening Stock Purchases Closing Stock
Material A 700 kg 11,500 kg 200 kg
Material B 200 litres 11,000 litres 1,200 litres
Material C 1,000 kg 1,800 kg 1,200 kg

The inventory is valued @ Re.1 per kg or litre.

Calculate the material turnover ratios regarding each of these materials and express in
number of days the average inventory held. What inference do you draw?

[Ans. Material Turnover ratio = 26.67, 14.29 and 1.46 times]

Q.20. A chemical producing factory uses ingredient P as the basic material at a cost of Z 30 per

Kg. Input-output ratio with material P is 125% A sudd
. i : en shortage of i
taken place. The producer is considering use of the following substitute ntmg?erTaalé-enal e

Material Input output Ratio
Mat ]
= B0t erial che v/ Kg.
P, 120% S
Py 140% g%
Recommend which of the above

| three substitutes i
output material cost will increase if best substitutssislistgs ?im. "y how much per unit o
. [Ans

. P2, 0.90]
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Raw Usage per unit | R
matertal | of product quantiny | Price per | Deliy
(kgs.) (k ty | kg.(® | pe ﬂ“dﬂf Re-order | Minimum
— ¥ ) gs.) o level | level (kgs.)
10,000 (weeks) (kgs.)
Y - 6,000 4 1t05
._..-—7; 10 12,00 3 3t0 5 a0
000 7 3106 5,000
3,000

weekly production varies fro
M 2000 250 units. Determine the quantities of the following:

(a) Minimum stock of X, (b) Maximum

stock of

stock of X. (Ans. (a) 1,600 kgs. (b) 8,000 kg:'(ﬁ}iﬁ%ﬁ;:ﬁ}u; Zsrh:nlf td; ANERES
1 " ] gEl

The Purchase Manger of a com
material item: pany has collected the following data for a particular

“Tnterest on locked up capital 159
- %  Other holdi
Order processing cost per % olding costs 20%
order P 50 Other procurement cost per order 225
Inspection cost per order 7 30
Follow up cost for each order X 20 g];;:lzle[rjﬁ:g'iﬂ 1000 uzn:[g

piferage while holding 5%
_inventngi

Discount for a minimum order quantity of 500 i - . _
policy of the Purchase Manger? Y items is 10%. What should be the ordering

(Ans. EOQ is 250 units but order of 500 units is recommended)

2 Calculate Economic Order Quantity (EOQ), a minimum stock or safety stock, re-order

i::ri!ci?:r mz::;r::lm stock with the help of the following data supplied by a producer for 2

[ ;

Annual consumption for material = 4,000 units Average daily usage = 42 units
Cost of placing an order - 7200 Maximum daily usage = 16 units
Per unit cost of material = 260 Maximum lead time = 10 days
Annual rate of interest = 10% Minimum lead ime = § days
Rent, insurance and storage cost = T 4 per unit

[Ans. 400 units, 64 units, 160 units and 512 units]

Q24 A wholesaler supplies 40 cricket bats to different shopkeeper on each working day. Presently
the wholesaler is purchasing bats in lots of 200 at a cost of X 60,000 per mL.Un every order h
incurs a handling charge of 2 150 and freight charge of T 250 per order. Multipte and fractional
lots can also be ordered. All orders aré supplied the next day. The wholesaler finances
investment in inventory by paying 2% monthly interest on borrowed funds. Incremental
storage cost per bat is 7 8. Working days in a year are 300. . ‘

(i) How many bats should be ordered at @ time to minimize total agnual inventory cost
(i) How frequently should order be placed? [Ans. 345 bats and 11 days]
Q25 XYZ Ltd. has purchased 3 consignment of material P and Q. The following are the costs

in purchasing: 4
50,000
Material P 5000 kg. @ 10 P‘fL“g' 40,000
Material Q 8,000 kg. @9 P° g 2,700
Sales tax @ 3% 630
Railway freight 93,350




r
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to both materials, |,

Q.26

Q.27

Q.28

&

Q.30

COST ACCOUNTING 6.2¢ t combined
imated @ in stores.
- peen estimat® 7 160 in stores: _
it charga?vzziecial handling costs of has been estimated at 5% in cagq
p and Q SO as 10 recoyg,

addition material P invo 8
ials in trans , ri
Normal breakage of materials 1N i . issue P and storage.
: ne per °3 rchases
b a?'lj oot lri: :gsgznzi;saﬁsnﬁéﬁr:s costs inmdental to pu
normal losses ©

[Ans. T 10.96 and ¥ 5.80] or of materials as under.

iesguntON its ord
an offer of quantity disco . nes number

i ived

RST Limited has recel | ess than 50
Price per tone 100

% 9.600 50 and less than

7 9,360 100 and less than 200

79,120 200 and less than 00

7 8,880 300 and above

LS terial of 500 tonnes. The ordering cost per order is

, 3 .
The annual requirement for the m of the material cost per annum,

" . o
7 12.500 and the stock holding cost is estimated at 25%

Required:

. . |

(i) Compute the most economical level. | |

(i) Compute EOQ if there are no quantity discounts and the price per tonne is ¥ 10,500
[Ans. (i) 300 tonnes (ii) 69 tonnes]

rial costing ¥ 1.20 per unit. Placing

nnually 48,000 units of raw mate
2 A 5% per year of the average

A company USES
pany ng costs are 1

each order costs T 45 and inventory carryl
inventory values:
(i) Find the E.0.Q. (Ans. 4,899 units)

(i) Suppose that the company follows the
year, that the procurement time s 12 opera

(a) re-order level, (Ans. 2420 units)

(b) the maximum level, (Ans. 5,399 units)

(c) the minimum level; (Ans. 500 units)
t tEld} the average inventory. (Ans. 2,950 units)

. is committed to purchase 24,000 bearings per annum to Y Ltd. on steady basi
. . . S : .t
is estimated that it costs 10 paise as inventory holdi ' y DESIS
that the order cost is T 324, 'y holding cost per bearing per month and
(a) What would be the economic order quantit i
. y. (Ans, 3,600 units

(b) Assuming that the company has a policy of purchasing 6,000 I:Iearings per order how

much extra costs the company would ' '
situation suggested in a abuve?y(Ans. L4 St;EG)mcumng 18- Goilpmeec o the. optms

E.0.Q. policy and its operates for 300 days a
ting days and the safety stock is 500 units, find

A company purchased raw material wit i
h "
9. b) Transport expenditure 22,000, 0 PorioUars. (2) 1,000 kgs. @ X 10 per

Your factory buys a
yS and uses a component for production at ¥ 10 per piece. Annual

requirement is 2,000 numbers. Carrvi
. : » \dlfyin :
cost is ¥ 40 per order. The purchase i:ﬁ;;ru;m"e"t”w S 10% p.a. and the ordering

high, it is advantageous
t " grees th L -
. g 0 place a single order for the entiar:a 2?1:::; ey GO W
requirement. He also

, We -
nd make your recommen gEt a 3% dISCL’lunt from the Euppller

ires i :
fe8 Incurring of extra cost of X 10 p.a.

it requ
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.;?fﬂf units of a certa

yeal. FX 300 and the iny
(i) What is the Economic Order _

(i) What should the firm do if lhﬁuantltﬁ

units and 3% discount on pu;;:;:h‘:r

v

0_51 " 3, the cost per purchase -

el of 6,000 units.

i "
El{'éﬂms annually. The cost per units
ry carrying costs T 6 per unit per

offer :
S 2% discount on purchase level of 4500

.\ £0Q : 3,000 units ; (ii) Discoi
- (i) E ts | (ii) Discoint after of 2% is m
+ o ore profitbale
, A company is reviewing its st , |
3% e purchase of stock. ock policy and has the following alternatives available f
available for

(@) purchase stock twice monthl _

(1 1 -
(b) Purchase monthly, 200 Unit; 00 units;
(c) purchase every three months, 600 units:
(d) purchase six-monthly, 1,200 units: 5,
(¢) Purchase annually, 2,400 units ‘

It is ascertained that th :

5% discount is nffereuebwt?eh ase price per unit is X 0.80 for deliveries up to 500 unis.

upto 1 000 and 10% reducti supplier on the whole order where deliveries are 501 a:nd
' ion on the total order for deliveries in excess of 1,000.

Each purchase order incurs administration costs of T 5

Storage, interest on capital and other
co
held. sts are T 0.25 per

ans. EOQ: 1,200 units.

Q33 Nathu Sweels supplies a number of products of bankers a
popular product IS “cake decoration. The demand for cake

unit of average stock quantity

nd confectioners. One of their
decorations is constant over a

long period of time at the rate of 2,000 packets per month. Each packet costs Nathu
Sweets ¥ 10 from the manufacturer and a lead time of three days is involved in it

Ordering cost is X 1.20 per order and the holding cost is 10

Calculate:
(@) (i) The economic order quantity.

per cent per annum.

(i) Total cost of ordering and carrying cake decorations per annum,
(b) Assume that the present level IS 200 packets and that no buffer stocks are kept,

when should the next order be placed? Assume 360 days in a year.

Ans. (a) (i) 240 packets (ii) T 240 (b) Next order is to De placed

Q34 G. Ltd. produces a product which has a monthly
a component X which is purchased at Z 20. For every

is required. The ordering cost 1S

You are required to calculate: )
(i) Economic order quantity. (Ans. 2.4_01‘.} anpunen
(i) If the minimum lot size to b€ supplied 1S 4,

has to incur? (Ans. X 640)

M wholesaler supplies t0 various shops '
handling
120 each of T 1200 per lot 2 per year

of T 250 per lot. The incremental .
wholesaler finances inventory i“”gt it:mnt by paying
borrowed funds. Annual requireme V8

' | er to
How much dolls should be ordered at in ord
frequently should be order?

Dolls aré purcha

immediately.

demand of 4,000 units. The product requires
finished product, one unit of component

z 120 per order and the holding costis 10% p.a.

000 units, what is the extra cost, the company

sed form the manufacturer in lots of
charge of T 60 plus a freight charge

{o store a doll in inventory. The

ts holding company 2% monthly for

minimize the total inventory cost? How

(Ans.33 days)
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COST ACCOUNTING 6.30 ’——/_‘_’_E"_;talmEﬂlS Each unit cost
ite jn 6 iN - S
Q.36  Anil company buys its annual raquirEmE"tt ?; ?;ﬁﬂ?,; I;ll:;t“;s estimated 3;20"-': zf unit ”HIZ;
an ' in 2 25. The invento . much money can De sayeq
Fir?dtrl‘t?entr:taarlmagnﬁﬁztl Igf the existing inventory policy. FOW (Ans. X 150 "
Economic Order Quantity. 1 |
duction at T 10 per piece. Annual réquiremery

omponent for pro ering cost is T 40 per
R L i rlaknyiod t u?inuentnry s 10% p-2 a_nd o hi r? it is aduant:f o
is 2,000 numbers. Carrying cos dering cost IS very nigh, : geaous t,
that as the orde says that if we order 2,000

The purchase manger argues ¥ Jirement. _
place a single order for the entire annual req o Evaluate this proposal and make

pieces at a time we can get a 3% discount from

your recommendations. |
placed and total cost of EOQ by applying formyj,

Q.38 Calculate EOQ and number of orders to be

from the following particulars. | |
() Annual requirement of raw material 60,000 units.

(i) Ordering cost per order 4 EUE}
(i) Annual cost of investment in inve
(iv) Cost of deterioration, taxes, insurance,

(Ans. EOQ 6,000 units)

ntory T 1 per unit.

supervision cost Z 1 per unit.

: - ; opti asing policy in meeting annual inventory
Q.39 An industry currently is adopting an op ot bag is % 20. The cost records project

' 0 bags. The purchasing price e _
it S Lo g : d ordering cost of ¥ 500. The supplier is providing a

holding cost of 20% of purchase price an
- P lot contains 10,000 bags. You are asked to choose the

the above two alternatives by presenting your findings

mum purch

discount facility of 0.5% if a purchase
most economic purchase lot between

and calculation in a tabular form.
(Ans. Alternative (2) involves lesser cost to the extent of ¥ 5,100)

Q.40. A manufacturer requires 9,600 units of a certain component annually. This is currently
purchased from a regular supplier at ¥ 50 per unit. The cost of placing an order is ¥ 60 per
order and the annual carrying cost is ¥ 5 per piece. What is the economic order quantity

(EOQ) for placing order ?
Recgntlm the supplier has expressed his willingness to reduce the price to X 48, if the total
requirements are obtained from him in two equal orders and to T 47, if the entire quantity

required is purchased in one lot. Analyse the costs of the three options and recommend the
best course.

What other factors should also be considered before the decision is taken ?

Q.41. A publishing house purchases 2,000 units of aparticular item per year at an unit cost of ¥ 20

the ordering cost per order is ¥ 50 and the invento - i
: : > ry carrying co -
optimal order quantity and minimum total cost including purghagse cit'ﬂ 25 per cent. Find the

If a three per cent discount is offered b i :
should the publishing house accept the pripﬂ;:afuppller for purchases in lots of 1,000 units,

Q.42.  The following information relating to a type of Raw material

Annual requirement . Is available :
Unit price 2,000 units
Ordering cost per order X 20
Storage cost i 320
Interest rate Bzu/fﬂ P.a.
Lead time o p.a.l
Half-month

Calculate economic order quantit
_ i y and total annua |
Ans.: EOQ =200 units and total inventory cost =% BEI;T

I::ant':.«rv_.; Cost of the raw material.
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Ans..

Q.45.

Ans.:

Q.46.

Ans.:

company buys |
A pany buys In lots of 12 CA R. K. MEHTA |

500 units whi
which |
Inventory carrying E; ii‘il l?ligthﬂpﬁaupp-’ly. The cost per unit is

G Ltd. producesa produ :
. ctw
requires a component X whizg:h has a monthly demand of 4,000 units. The product

. nich is purc
Eg; ifsc1ﬂ£’5 E”ae Nt Is required. Thi; nr?l:ﬁEg ?:L:tZ'D'!F?; S X a hoidri
a. IS 0 per order and the holding

You are required to calculate -
1. Economic order quantity: .
2. If the minimum lot size 1
to be ied i
company has to incur ? supplied is 4,000 kgs., which is the extra cost the

3. :fhat IS the minimum cost, the company has to incur ?
EOQ = 2,400 kgs. and extra |
adopted. cost of T 640 will be incurred if EOQ policy is not

A company manufactures a speci |
: : pecial product which - . .
following particulars are collected for the year 2'01;9:%"&5 a component 'Alpha”. The

1. Annual consumption of Alpha : 8,000 units
2. Cost of placing an order . %200
3. Cost per unit of Alpha . T400
4. Carrying cost % p.a. . 20%

The company has been offered a quantity discount of 4% on the purchase of ‘Alpha’,
provided the order is 4,000 components at a time.

Required :
(i) Compute the economic order quantity.
(i) Advise whether the quantity discount offer can be accepted.

EOQ = 200 units and the discount offer may lead to increase in cost to the

extent of T 10,000.

A publishing house€ purchases 72,000 reams of @ special type paper per annum ata
Gﬂl;t of X 93 per ream. Ordering cost per order is ¥ 500 and the carrying cost 1S 5%
per year of the purchase price. Normal lead time is 20 days and safety stock is NIL.

Assume 300 working days in a year.

Required : |
(i) Calculate the Economic Order Quantity (E.0.Q.)

: Level.
(ii) Calculate the Re-order e pplier for purchases in lots of 18,000

0 tity discount is uﬁeret! by the su "
i~ lrLZr:‘:gquﬁgrgy should the publishmg house accept the prupusal .

EOQ = 4,000 reamsS re-order level = 4,800 reams.and the discount offer will
= 4, re , re-

reduce the cost to the extent of 3 40,705.
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Q.47.

Ans. :

Q.48.

Ans.:

The annual carrying cost of material ‘X' IS T 3.6 per unit andﬁitsf:;l;tﬂ;z gllr!i'CDSt is
Z 9,000 per annum. What would be the economic order quantity :

EOQ = 5,000 units
000 units and the purchase price

firm, the annual demand for Raw M ng an order is Z 135 and the cosy

is expected to be ¥ 90 per unit. The cost of process!
of stroage is estimated to be T 12 per unit p.a. |
a. What is the optimal order quantity and the total relevant cost of this order

quantity? .
t of processing an order is incorrect

b. Suppose that the T 135 estimate of the COS .
and should have been T 80. Assume that all other estlrpateg; are correct. What js
the revised EOQ and total relevant cost under revised situation ?

c. Assume at the start of the period a supplier offers 4,000 units at a price of X 86.
“The materials will be delivered immediately and placed In the stores. Assume
that the cost of placing this order is zero. Is the discount offer acceptable ?

(a) EOQ = 300 units and total relevant cost =< 3,600;
(b) Revised EOQ = 231 units and total relevant cost=T< 3,724,
(c) The discount offer will increase the cost to the extent of ¥ 4,400.
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Answerto Q. No. 1 : onary Problems

Re-order level
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a) = Maximum usage x M
- axim .
ﬁ : 900 x6 = 5,400 units Um re-order period
b) Minimum Level i gglg x4 = 3,600 units
A = 5 45-0 rcer level - (Nominal usage x Normal re-order period)
B = 3 0= (600 x 5) =2 400 units
Maximum L 600 - (600 x 3) = 1,800 units
c) aximum Level = Re-order level _
A = 5400 vel+ Re-order quantity - (min. usage x Min. re-order period)
B = 12 +4.800 - (300 x 4) = 9,000 units

3,800 + 7,200 - (300 x 2) = 10200 wnits

d) .. Average Stock Level = %4 (Min. level + Max. level)

A = 72(2,400 + 9,000) =5 |
. , = 9,700 units
- B = %(1,800+ = i
Alematively. 10,200) = 6,000 units
Average Stock Level = Min. level + % of re-order guantity
E = 2,400 + % of 4,800 = 4,800 units

1,800 + 2 0f 7.200 = 9,400 units

Answerto Q. No. 2 :
(i) Minimum stock level of M

= Re-order level — (Normal consumption x Average delivery time)
= 15,000 — (400 units of Zee x 10 kg x 3 weeks)
= 15,000- 12,000 = 3,000 kg.
(i) Maximum stock level of N
= Re-order level + Re-order quantity — (Minimum consumption x Minimum re-order period)
= 10,000 + 15,000 - (300 units of Zee x 8 kg x 4 weeks)
= 25,000 -9,000 = 15,400 kg.
(i) Re-order level of O
= Maximum consumption x Maximum re-order period
= 500 units of Zee x 5 kg x 6 weeks

= 15,000 kg.
2UP szs,uuo units x T 20
S 25

Answer to Q. No. 3 :
40,000 = 200 units

Max. consumption x Max. re-order period

20 »x 15 = 300 units. | | |
Re-order Level+Re-order quantily - (Min. consumphon x Min. re-order period)

_ 3004200~ (10 x 6) = 400 units.

Note : Minimum consumption IS calculated as follows : »
Min. consumption + Max. consuinption

]|

Re-order quantity (EOQ)

I

I

(i) Re-ordering level

n i

(i) Maxiinum level

Average consumption = ”
Min. consumption + 20
15 = . ”
Mmoo (ovel | -:. I;g-nrder Level — (Average Consumption x Average re-order period)

(i) Minimum level 200 - (15 x 10) = 150 units.

Average consumption x Re-order period in emergent conditions
vera

15 x 60 units. —

(iv) Danger level

"

- il

e o | Il" =Tk Ll
I F T L ral e
e L P - L is
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Answer to Q. No. 4 : _ . tion
2UP rere U = Annual cOnmInE
(@) Economic Order Quantity (EOQ) = 5 _ Buying (of ordering) cost
P = d carrying costp.u.p.a

g = Storage an

2 x 12.000 x 12 - 1‘095 units {Apprﬂx-)
QU 1x 24%

-order level
r be placed (when st es re-orde )

ock reach k + Consumption in lead time

(b) (i) When should the orde Safety stoC

Re-order level

12,000 units 12,000 units « 15 days

» 30 days +
360 days
360 days Y - 1.000 units + 5

ately before material ordered

00 units — 1,500 units.
is received i.e. safety stock

(i) Ideal inventory level immedi
12,000 units 30 day5=1.000 units

360 days

Safety Stock -

Answerto Q. No. 5 :

2UP  [2x2,600*x100 _ .
(1) Re-order Quantity 'y = \/ " =186 units (approx.)
*Normal usage is 50 units per week. So for one year it is — 52 weeks x 50 = 2,600 units.
Maximum usage x Maximum Re-order period

75 x 6 = 450 units.
Re-order level — (Normal usage x Average re-order period).

450 - (50 x 5) = 200 units

Re - order Re -order (Minimum Minimum ]

(2) Re-order Level

(| I | I A {

(3) Minimum Level

I

+ bt
Level quantity usage re - order period

450 + 186 — (25 x 4) = 536 units

72 (Minimum level + Maximum level)
72 (200 +536) = 368 units

(4) Maximum Level

(9) Average Stock level

i

Answer to Q. No. 6 :

i c . 2 UP
S
Where U = Annual usage of tubes
= Normal usage Per week x 52 weeks
; ; ;I) 00 tqbes x 92 weeks = 9,200 tubes
& - | rdering cost Perorder =¥ 100 per l.::rder
2n;$ntuzr‘y5t{;arrymg COst per unit per EIHI'IUIT.'I
0 X = ' |
e 0 =% 100 per unit Per annum.

Economic Ordering Quantity.

= \(2:-:5.200 units x ¥ 100
Y100 ~ =102 tubes (approx.)

_
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' f offer. If the .
E,,aaluﬂﬂﬂﬂ o ) supnlier is will;
() Toa Cost = Cost of 5,200 Units ng to supply 1,500 yn; - CA R. K. MEHTA
units). Orderin 500 units at a discount of 5%.

g Cost + Carrvi
mying Cost .
= 5,200 units x Z 475 + 2:200 units . (when order size is 1,500

3 1
1.500 units. 100 + -E.-r 1,500 units x 20% x 2 475

324,70,000
2254150857 <120

(i) Total Cost (when order size is 102 units)

= 5,200 units x T 500 + 2:200units 1
xn

102uni 100 + =x 102 uni
- 226.00.000 + % 5.098.03 +uzngsmu 5% 2 units x 20% x T 500

7 26,10,198.03

i

The above calculation shows th
e total cost under quarterly supply of 1,500 units with 5% discount

is lower than that when order size is 1 .
2) Maximum Level of Stock 02 units. Therefore, the offer should be accepted.

= Re-order level + Re-order quantity — (Mi :
- 1600 units + 102 units — 50 unitsyx S(F:glé::age x Min. Re-order period)

= 1.402 units.
(3) Minimum Level of Stock

= Re-order level — (Normal usage x Average Re-order period)
= 1,600 units — 100 units x 7 weeks = 900 units.

(4) Re-order Level
= Maximum Consumption x Maximum Re-order Period

= 200 units x 8 weeks
= 1.600 units.

() Inventory Turnover Ratio =

Cost of Raw Material consumed during the period
Average stock of raw material during the period

22,550,000 _, ¢

¥1,00,000
(i) Average Number of days for
which the average inventory

365 days
is held B Inventory turnover ratio
365 days - 146 days
2.5
Working Notes :
1. Cost of raw material consumed
90,000
Opening Stock of Raw Material v.:xtl;1 1 ;;?95 %%%.90%%
Add - Materi d during the 60,
aterial purchase g 1.10,000
2.50,000

Less : Closing Stock of raw martial
Cost of Raw Material consumed
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2. Average ’;'maw Material =

{t QD.UUU"" z 1,1U.UUU

CAR. &%

material* closing stock of raw Martial)

) = 4 1.DU.UU{’

Answer to Q. No. 8 : Vaterial A _ 4 000 units
Minimum Stock Level of Materia - 000 units _
Average Stock Level of Material A - i‘ilnirﬂ um Stock level +'t%. Re-order Quantity
Average Stock Level : 9,000 units = 000 units
or ¥ Reorder Quantity : 5 000 units
- 10,000 units
or Re-order quantity
Answer to Q. No. 9 : A B -
(1) 2,000 1,2
Annual Demand (bags) 7 1.200 7 1.400
Cost of one order (p) ) 7 480 Z 560
Carrying cost per bag(s
g £ 20p
Hence, EOQ = \ s
52,000 bags xX 1,200
A S \ T 480
= 100 bags.
2x1.280 bags x < 1,400
B ) % 560
= 80 bags. .
gr)de ng Cost 20 x 1,200 16 x 1,400
' =3 24,000 = 22,400
. 100 80
(No. of orders x Cost per order) (+) Carrying Cost T x 480 ? x 560
(EZJQ x Carrying cust!bag] = 24 000 = 22.400

(3) Number or deliveries (orders)

A

< 48,000 I 44 800

2,000 bags
=20
100 bags
1,280bags _

16.

80 bags
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2 | ord T
Annh‘ﬂ .El"' Price N
Tp!ﬂ" ment Size pe 0. of T Carrying
FEﬂ"innesJ (tonnes) tnnn; f?mem EDETE:’ Dt,':‘d o s Ala-+d o Tord
) +(2) invenotry x ;St (4) tonne  Cost (5)
(1) % (4 1,200 pa.(2)x +(6)+(7)
7 » ) va % (3)
1) (2) 3 Xz s
5 000 W00 1400 L9 ®) \ g
500 1,380 ig 70,00,000 15,000 EIE}DD{J 70 '}1]nuu
;ﬂgn 1360 ) gg.gg.unn 12000 69000 69,81,000
000 1,340 X E?-mﬂﬂﬂ 6,000 1,236,000 6942000
3000 1320 25 6700000 3000 268000 69.71,000
Wfﬁhase Department : The above tab?eﬁfi? .D{]Um 2000 _3.95.001 69.98,000
ows that the most economical order size

among the gf""ff” P etonld
epartment should the
qurchase dep refore place 5 order of 1,000 units each.

put-output ratio = 12 x 100 = 120%

ndard In
Sta 10
hcwa’l lnput-DulDut ratio = ZIDDU % 100 = 125%
1,600
giandard Material Cost per unit of output = 20 x 120 = 24,
‘ 100
pctual Material Cost per unit of output = 20 x 125 =% 25
100

tions is 1,000 tonn [
€s, as at this order size, the total cost is minimum. The

the overall PEI:fGI:manEE regarding use of material is lower than the standard. While the standard
utput ratio 1S 120% the actual ratio is 125% indicating inefficiency in material use. As @ result
aclual material cost per unit of finished product is ¥ 25 against the standard cost of T 24.

answer to Q. No. 12 .
Assumption : It is assumed that the loss of 10 kgs. of material X and 20
factory store is @ normal handling loss chargeable to the output.

kgs of material Y in the

Material X Material Y
Quantity (kgs.) Amount () Quantity (kgs) Amount (X))
Material Price 400 4,000 600 9,000
Sales tax @ 5% 200 45;?}
Insurance @1% 40 ot
Freight (in the ratio of weight) 88 "
Weight loss in handling -10 -
T2 9672
Net Weight and Value 390 kgs. T 4320 580 kgs. 2
issue rate for material X = 4328 + 390 7 7 11.10 per kg. (approx.)
Issue rate for material Y = 972 + 580 = 7 16.68 per kg. (app;ﬂﬂaﬂﬁal ) aterial
Revised rate after providing for obsolesce . —— 80 1Cn.
Quantity available before obsolescence s 58
Less : 10% provision for obsolescence 3—5—_-1 . 522 kgs.

Net normal availability

Revised rate for X = 4328 + 351 =
Revised rate for Y = 9672 + 522 =% 18.53 per kg. (8P

7 12.33 per kg. [apprux.]
prox.)
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0
Answer to Q. No. 13 : CALCULATION OF €22~ — Quantity Pleces Amm
. No. [ Qua Ount ¢
: . Le., 4 90
Purchase price of 1,000 pieces of sealing ring £ 2 1,000 Eu,n{m
per piece (1€ = T 45) 0,000
Custom duty @ 100% on invoice value 1.31‘!0
Clearing Charges 400
Freight Charges 1 023 1.83,200
Less: Normal loss 940 1,83.20p |
Total Cost of Material
71,83,200 _ ¥ 194.89

Unit Cost of Material (per piece) = ga0 pieces

Treatment of 100 Pieces Rejected in Inspection
eces have been treated a8s norm

Out of 100 pieces rejected, 60 pi tr rodu
- i f normal loss from p
price has been inflated to recover the :?:é:hns e treated as abnorma

40 remaining pieces @ T 184.89 per
to Costing Profit and Loss Account.

Answerto Q. No. 14 ;
() Re-ordering level (ROL) |
Maximum consumption rate x Maximum lead time

= 20 units per day x 15 days

= 300 units

(i) Maximum level . B |
= ROL + ROQ - (Minimum consumption rate x Minimum lead time)

300 units + 200 units - 10 units per day x 5 days
(See Note-1) (see Note-2) |

= 450 units

(iii) Minimum level
= ROL - (Average consumption rate x Average lead time)

= 300 units - (15 units per day x 10 days)
= 180 units.

Note-1
ROQ = \/2 x Annual Consumption x Cost of one order

Storage cost per unit per annum

- sz 5000 units x ¥ 20

T = 200 units

Note-2

Average consumption = Minimum Consumption + Max. consumption

2
15 units per day = Minimum Consumption + 20 units per day

Hence, minimum consumption perday = 10 unitzs

al loss by the management, Issyq
ction as shown above. The cost gf
| loss and should be debitgg
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6.39
r .No.15:

bﬁ” 'l | Consumption (U " _

Mnua { ] _ ?E items x 365 dﬂys

Ordering Cost {F} = o 5%5“ Units

nuentﬂl'!r' Carwgg cost per

tem per annm () = T 0.02x385:-=%7
. Economic Order Quantity = [2UxP
(1) s

= Jz"‘m.zﬁﬂx? 50
T7.30
500 units

(i) re-order Level Maximum Usage o

Wﬂ-‘i

er day x Maximum Lead Time

90 units per day x 32 days

presumiﬂg that all units were sold away, the percentage of profit will be as follows:
category A 6,000 units xT 4 = T 24000
category B 4,000 units xT 3 = 12,000
category C 7,000 units xT2 = 14 000
Total Sales 50,000
Total Cost 40,000
Profit 10,00
10,000 x 100
e of Profit on Sales = =20%
ot 50,000
COMPUTATION OF THE PURCHASE PRICE _ —
“Material S.P. per unit Profit per unit Cost per unit Total
TTE T 4 T .80 2 3.20 T 19,200
B 3 60 2.40 1‘::: g%ﬁ
1.60 S 11200
C ? 0 40,000
Answer to Q. No. 17 . |
j d Time
Minimum Level = Re-order level — (Average Rate of Consumption x Average Lead Time)

= 450 units — (50 U _
rder Quantity -

nits x 5 weeks) = 200 units.

(Min. Usage Rate x Min. Lead Time)

Maximum Level = Re-order Level + Re-0 |
= 450 units + 300 units — (25 units * 4 weeks)
= 650 units.
' d = i Usage Rate * Maximum Lead Time
g o Re-order Lo B =g:5 units * 6 weeks = 450 units.

Answer to Q. No. 18 :
Maximum Stock Level =

_ (Min. Consump!

Re-order Level

. 375-@5x NP
_ 375-25+% 125 = o
_ ] Level — (AVE
Safety Stock or = Re-order
Minimum Stock Level
— 375 - (50 X 2)

units.

I

ion x Min. Lead Time) + Re-order Qty.

A75 units.

e Usage Rate X Average Lead Time)
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Answer to Q. No. 19 :

Materials Consumed = Qpening Stock * - 00 kg '
Material A = 700+ 11,500~ 1020[} - 10,000 litre= of 1’610.000
Material B - 200+ 11,000—". _ 4 600 kg of T 1.
Material C = 1,000 + 1,800~ 1'2?05;“; .:tut:kl 2
Average Inventory = (Opening Stock +D : of T 450
Material A = (700+200)/2 = 45 gr_} iitres of T 700
Material B = (200+ 1'200}5‘2; ?01 100 kgs of T 1,100.
- ~  (1.000+1,200) /2= : eriod
Material C {':l'alue ¢ materials E{w&f—
= ntory hEld

Material Turnover Ratio Value of average inve

12,000 /450 = 26.67

Material A =
Material B = 10,000/700= 14.29
Material C - 1600/1,100= 1.46.
No. of days for which |
. Days of the period
Wavsiiary o bk ~ Inventory turnover
365
ial 222 =14days (app.)
Material A poa
365
Materiai B = — =25 dﬂ}"ﬁ {app)
26.67
365
Material C = =250 dEYS
1.46

Material A is fast moving because it is held in the store for least number of days.

Answer to Q. No. 20: Cost of material in one unit of final product = Input output ratio x Material

Price
. 125 _ 120
Cost of Material P = — x 30 =¥ 37.50 Cost of Material P, = — x 32 =3 38.40
100 100
, 150
Cost of Material P, = ﬁ x 28 =T 42 Cost of Material P; = lﬂ x 31 =43.40
100

Of the above three substitutes material P, is most economical despite hi i '

_ ut _ | pite higher price. It is so

higher productivity with P, Use of substitute P, will result in an incrgase Fin material ciﬁ tt;
< 38.40 - 37.50 =X 0.90 per unit in final product. °

Answer to Q. No. 21:

Average or Normal Weekly production = L (200 + 250) = 225 units
> .

(a) Minimum Level of X = Reorder Leve| - (Normal usage x Average Delivery Period)
rno

= 7,000 - [225 x 8) x ~ (14 5)1 =
> (1*5)]1=7.000

~(1.800 x3) = 1,600 kgs.
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(b) maximum Stock of ¥ = Reorder Level + Regrg
rder

Deiivery Period),
= 95,000
+ 6,000 - [(200 x 5) x 3] =

u 1 .
Quantity — (Minimum usage *x Minimum

8,000 kgs.

= Max. usa
. ge x Maxj '
mum Delivery Period = (10x250)x4=10,000 kgs.

Stockof X = L INi
(d) Average 2 M
> Imum Stock + Maximum Stock)

(c) Reorder Level of Z

We have already determined mini
maximum stock level of X. Maximn::;nm stock level of X which is 1 600 kgs. Let us now find out
; : ow find ou

e . ‘ Stock
(Minimum Usage * Minimum Delivery Period) Level of X = Reorder Level + Reorder Quantity —

=7.0
00 + 10,000 - [(200 x 8) x 1] = 15,400 kgs.

Average stock of X = — (1600 + 15400) = 8,500 kgs

1
2

Answer 1o Q. No. 22: Inventory carryi .
ying cost, i. -
Ordering cost per order, i.e., P =50 + 390 . 2(:1 |+e£58_ ?1 ;':2“,'; + 5% + 20% = 40% of T 10 =X 4

_ 'ZUP 2 x1,000 x125
EOQ = ‘—S_ Z\[ 2 = 250 units

Total cost with EOQ = Purchase cost + Total storage cost + Total ordering cost
=[10 X 1,000] + [(250+2) x4] + [1,000 +250) x 125 ] = 10,000 + 500 + 500 =X 11,000

:;]u r?:iies :;?EL 15:?0.2 953‘55 to avail 10% discount, then number of orders is 1000 = 500 = 2;
- % 9: and carrying cost is 40% of T 9 =X 3.60.

Total cost = [9 X 1,000] + [(500 + 2) x 3.60] + [2 x 125] = 9,000 + 900 + 250 =¥ 10,150.

Thus order size of 500 units with 10% discount results in total cost saving of T 11,000.

Answer to Q. No. 23: The general rule of estimation is :
Maximum + Minimum

2
Minimum Daily Consumption = 2 x Average d

2% 12 =16 = 8 units.
Maximum Lead time + Minimum Lead time . 10+6

Average Lead time > 2

Average =
aily consumption — Maximum daily consumption =

= 8 days

—
E0Q = EE _ 2 % 4,000 x 200 _ 400 units
> \ (60 X Lo + 4]

100

: i ' ' dti

Reor = m Dail Consumption * Maximum Leac
et ! Reorder Level — (Average Daily Consum

Safety Stock or Minimum Level = eorder 2 x e ur_ftts
£0Q - (Minimum Daily Consum

) =512 units

me = 16 x 10 = 160 units
ption x Average Lead time)

ption * Minimum Lead time)

Maximum Level = Reorder Level +
= 160 + 400 - (8% ©
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Answer to Q. No. 24: Annual Requirement = Daily req

=40 x 300 = 12,000 bats

Cost per bat = Cost per lot -

No. of bats per lot

200

Ordering Cost per Order = Handling charges * ffﬂigh_: =
Carrying Cost per bat = Annual interest cost per bat

3
= | 300 x 2 x12 |+8=72+8=%80
100 y

2UP

80

S

60,000 _ # 300

- +250=X 400
150 ying cost

Jirement of pats * Working days in a yeg,

Annual Requirementnf bats = 12'_922 = 34.7
Number of Orders per annum = Bats per lot 346
365 X.
Time gap between two orders = —3—;—7- = 10.52 days or 11 days (approx.}
Answer to Q. No. 25: Watorial P T Material Q ¢ Total ¥
__ 0 40,000 90,000
50,00
Invoice Value ‘ 1500 1200 2700
Sales tax @ 3% or apportioned in the ratio of ' ' .
value -
Railway freight apportioned in the ratio of 250 400 650
weight
Special handling costs | 160 - 160
Other handling charges apportioned in the 100 160 260
ratio of weight
52,010 41,760 < 93,770
Quantity purchased 5,000 kg. 8,000 kg.
Normal loss of material @ 5% and 10% -250 =800 8
respectively
Materials effectively available for issue 4,750 kg. 7,200 kqg.
. , 52,010
Issue price of material P = e =X 10.95; Issue price for material Q = al.r =¥ 5.80

7,200
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answer 0 Q. No. 26: —
i CA R. K. MEHTA
%}ﬂa&'} M; of Cost
?E:JLJ ".u'?:"’ """‘*‘hisefm . | ©Ordering cost
(Units) Per unit cost A Carrvi Q Total cost
) E X £12500 rrying cost -E wCx (3+4+85)
— 40 (2) ) ‘” -
4 12.5
480 * °
0.000 7158250 48,000 .
(500 * 9600, | (40 . 50,04,250
- =
0 10 46,80,000 | 125,000 S Mﬁ)
€ 58,500 48
(500 x 9380) 50 s
- 93503.25)
100 o 45,60,000 | 62,500
. 1,14,000 47,36,500
(500 x 9120) (100 x 9120 25)
10 ‘
200 2.5 44,40,000 |31.25 ’
- 2,22,000 46,93,250
o o (500 x 8880) | (2.5 x 12500) (2';” x 88D 12.5)
. 43,20,000
20.875 3,24,000 46,64 875
(500 x 8640) | (1.67 x 12500) (%0- x 8640 32.5)

The above tables shows that the total [
e cost of 500 units includi '
minimum (% 46,64,875) where the order size is 300 url:i?:gHr:::

purchase level is 300 units.

x 500 tons x¥ 12,500

(i) EOQ =‘F

nswer to Q. No. 27:
U = 48,000 units
P = T 45 per order

Rs.10,500 x25%

g =15% x 1.20 = 0.18 per unit p.a.

() EOQ= J

(i) (a) Re order level

= Safety Stock
= 500 + (48,00
= 500 + 1,920
= 2,420 units

= 69 tonnes.

4
2x48,000x45 _ 4,899 units

0.18
+ (Normal consumptio

0 x 12/300)

| + Re-order

- Re-order leve

(b) Maximum level

(c) Minimum Level

Minimum Lead Time)

= 2,420 + 489
= 5,399 units
= Re-order Level -
48,000

=2 420 - ——"“‘300

112)

the

Quantity

9 — (12 x 4,800/300)

(Normal Consumption X Normal

ng and carrying cost IS

most economical

n x Normal Delivery time)

= (Minimum Consumption *

Lead Time)
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Answer to Q. No. 28:
@) E0Q = |22F
S : rnngs
U = Annual Consumption Production = 24,000 beannd
P = Cost per order = ¥ 324 o
S = Carry?ng Cost=%0.10%x 12 = 7 1.20 per unit P
_ Jz x 24,000 x 324
1.2
= 3,600 units incurring if it manufactures
(b) Statement shown computation of exira cost, the CO. would be !
6000 units per run. 000 units 3,600 units
24,000 1296
; 324 '
Annual Set up costs [ 5.000 x )
24,000 ., 4) 2,160
3,600
6,000
Annual Carrying Costs ( > :-:1.20) 3,600
2.160
[3.5;0 ; 1_20}
4,896 4320
Extra cost of ¥ 576
Answer to Q. No. 29: 10{'{;00
Purchase Cost (1,000 x 10) e
Transport charges VY
Total Cost 12,000
Total input purchased = 1,000 kgs.
(=) Normal loss = 77Kkags.
Normal consumption 023 kgs.
. _ Rs.12,000
Hence, unit Cost of raw material = =% 13 per kg.
‘ 923 Kgs.

Out of 923 Kgs, 800 Kgs. will be used in various jobs and as such the materials cost chargeable

to the jobs will be 800 Kgs. x X 13 per Kg = T 10,400.

Quantity abnormally spoiled is 123 Kgs. and as such the amount charged to P & L A/c is 123 x 13

=¥ 1,599 or say X 1,600.

Answer to Q. No. 30:

Annual Usage (U) = 2,000 Pieces.
Cost of one order (P) =X 40

Carrying Cost per piece p.a. (S) =3 10 x L
100
=31
2UP [2x2,000x40
EOQ = ‘[~—s—=J ; = 400 Pieces.

Total Inventory Cost
= Purchase Cost + V2UPS

= (2,000) (10) + /22,000 x 40 1
=¥ 20,400
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if 2,000 Kgs. are purcha . CA R. K. MEHTA | u
om uted below- Sed in Single order wi _

Comp With 3% discount, total inventory cost is
purchase Cost (2,000 x ¥ 9.7) v ry
ordering Cost (1 Order) 19.400

: 000 40
Carrying Cost ( *10% of 9.?)

a70
conclusion: There is extra cost of % 19 per ann 20.410
um.

Answer to &2 No. 31:
aAnnual Usage (U) = 90,000 units.
Cost of One order (P) =T 300

inventory Carrying cost p.u. p.a. (S) =26

2UP |2x90.00
() EOQ= J =J 0> 300
S 6

= 3,000 units.
(i) Discoun offer

Presgnﬂ}'. we order 3,000 units each time and there are total number of 30 orders. The present
total inventory cost is computed below -

L4
purchase Cost (90,000 units x T 3 per unit) 2,70,000
ordering Cost (30 orders x ¥ 300) 9.000
0 .
Carrying Cost (3, 00 units E) 9,000
2,88.000
in case 4,500 units are purchased each time with 2% discount, total inventory cu;t would have been —
Purchase Cost (90,000 units x X 2.94) 2.54.'50%
6,00

Ordering Cost (20 orders X T 300)

4 500 units
Carrying Cost [ > X RE.&] 13.500

the extent of ¥ 3,900 (2,88,000 - 2,84,100)

The discount offer will reduce total inventory cost to
Discount offer o - ' d there will be total number of 15 orders.
Hence 6,000 units are 10 be purchased each time an ;
2,61,900

Purchase Cost (90,000 units x 3 2.91) 4500
Ordering Cost (15 orders * T 300) i

con 22 e

. N ed

e 2 2 84,400

e
st to the extent of I 3600 (2,88,000-

| ory CO
The discount offer will reduce total inventory

2,84,400).

' o, is MOre pmﬁtable.
Conclusion: The di

scuuntuﬁErnfE
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Answer to Q. No. 32 )
Answer to Q. No. 32: _—
Order Size rﬂnﬂﬁfa o 2400
00 - —
_Types of Cost 100 200 5 :400::0.75 24uu=BU-T2 241‘32;3-?2
Purchase Cost 2400 . gbﬂﬂ = 541‘33;3-5 < 1824 =21 .T: o | 1 gy
1. o =20 [ 2%°7 =
Ordering Cost 24x5=120 | 12%9= 60 ; ;: 1200 y 2400 0.2
Storage & Carrying Cost 100 025 200 405 | — x0.25 - 2 ‘
2 2 2 025=150 | =300 |
=125 =25 - 1,888 2,033
2,052.5 2,005 1.919 e s B
o I cause total inventory cost is least in IS Case.

Conclusion: ldeal order size is 1200 units be

Answer to Q. No. 33:

Annual requirement (U) = 2000 * 12

= 24,000 packets
10
s.10x—*= 31

Storage & Carrying Cost per packet per annum (s) =R 100

Cost of one order (P) =Y 1.20

At
(a) () EOQ= YZ—:E

_ \] 2 x 24,0:10 x1.20 = 240 packets
(i} Ordering and Carrying Cost = Jﬁf?ﬁ_'
= J2x24,000x1.20 x 1
=T 240
(b) Re-order Level = Buffer Stock + Avg. requirement during lead time
24,000 Units
360 days

= NIL +( x 3 days}

= 200 units.
The new order shouldbe placed immediately.

Answerto Q. N

Annual Usage (U) = 48,000 components

Cost of our order (P) =T 120

Storage and Carrying Cost per component per annum(S) = 10% of ¥20 =T 2

) Eoq = [2P
(i) EOQ = S

_ sza.uoo x120

2
= 2,400 components.

(i) Ordering and Carrying Cost at EOQ purchase

level = Y2UPS
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_ta7

= JE x 48,000 x 120x 2
=T 4,800

Ordering Cost | ————. 129

carrying Cost | ———x 2

Excess Cost = 5,440 - 4 800
=Y 640.

&niwargu Q. No. 35:

Annual Requirement (U) = 7500 dolls.
Cost of one order (P) =60+250=7310

CAR. K. MEHTA

L 4

1.440

r’h
o
Q
o

lj'.ﬂ
Y
£
o

storage and Carrying Cost per unit p.a. (S) =2 7.60 + 24% of 2 10 =2 10

purchase Cost perdoll = lZE =210

120

2UP 27500 x310
EOQ=,—=~ J 10

S
= 682 dolls

No. of orders ol 11
.ofo = ——=
2 682

Time gap between two orders = 365/11
= 33 days

Answer to Q. No. 36:

IS computed below —

CALCULATION OF THE ANNUAL COST OF EXISTING INVENTORY POLICY

Ordering cost of 6 orders @ T 25 per order

36,000 120
CElTYing cost @ 20% (I‘.t’. —-E'—'I T 1x '2— ¥ 100

|

price of material)

150
600

750

Annual cost (excluding purchase

Calculation of Economic Order Quantity

2UP

EOQ =  [—
S

_ 2x36,000xT 25
"V 20%ofZ1

= 3,000 units.
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RD__________.————"_'_
CALCULATION OF THE ANNUAL COSTIFO

~r |s PLACED FORE.0.Q.

- —

. 36,000 unilg) @3 25 per order
Ordering cost for 12 orders | ie. 3.000 units

Carrying cost @ 20% (¥ x 3.000 units x T 1 % 20%)

jal
Total annual cost (excluding purchase price of material)

E.O.Q.
CALCULATION OF SAVING IN coST BY

' icy (/ requirement O
Annual cost of existing inventory policy (1.e- annual req

is purchased is 6 instalments)
Less: Annual cost by following E.O.Q.

f 36,000 units

Saving in cost by E.0.Q.

L COST OF MATERIAL

. ION OF TOTA _
Answer to Q. No, 37: ifa ;:;Egrla-;:: is placed for 2,000 units of annual requirement)
3 <
. 20,000 -
Material purchase price ¥ 2,000 units @ 10 400 -
Less: Discount @ 3% ' )
Ordering Cost for placing one order 0
Carrying Cost @ 10% for average inventory
ie. %% 19,400 x 10% 970
Total Cost of Material 20,410
If E.0.Q. is followed
_ |2UP _ [2x2,000x% 40
F0Q =TT 1/ 10% of ¥ 1
= 400 units
No. of orders per year = £ _ 5.
400
CALCULATION OF TOTAL COST OF MATERIAL IF E.O.Q. IS FOLLOWED
; ‘ 4
Material purchase price : 2,000 units @ T 10 20.000
Ordering cost for 5 orders @ ¥ 40 D*ggu
' - 1
Carrying cost @ 10% for average Inventory (E x 400 xT 10 x 10%] 200
20,400

The proposed of the purchase manger of placing a single or

it gives higher cost of ¥ der should
0.0 g st of X 20,410 as COmpared to ¥ 20,400 if not be accepted because

five orders are placed by following
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No. 38: e MEHTAJ i
ﬁ"iﬂgr tc Q.

} £conomic Order Quantity (EOQ) = J@ . Ereootmees
S
2

= 13,60,00,000
= 6,000 units

. No. of order to be placed - Annual Requirement
0 E.0.Q

_ 60,000
6,000
(iil) Total Cost = Total Ordering cost + Carrying Cost

=T 600 x 10 orders + 3,000 (Average Inventory) x ¥ 2.
=% 6,000 +¥ 6,000 =¥ 12,000

Answer to W. No. 39:

=10 orders

_ _ [2uP _ [2%1,00,000 xZ 500

Optimum Order Quantity = s - A

= /2,50,00,000

= 5,000 units
Alternative (1) |
rotal Annual Cost by placing order of 5 000 units 20.00,000
burchase price of 10,000 bags @3 20 per bag 10.000
Ordering cost (20 lots @3 500) 10,000
Carrying cost (2,500 units X T4) 20 20.000
Alternative (2) ‘ (or 10,000 bags
Total Annual Cost by placing orde? 19,90 ( 20- 0.10) 19,90,000
Purchase price of 1,00,000 bags @3 1°. 5,000
Ordering Cost (10 orders * % 500) 19,900

. o, of Z 19.90) 20,14,900

Carrying cost (5,000 x 207 20,14,900

is less ¥ 5.100.
Alternative (2) is better as the Total Annual Cost

Answer to Q. 40. |
Annual usge (U) = 9.600 units

Cost of one order (E) =X EaD
Carrying cost per piece p-2
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Total Cost at EOQ purchased level 1
Purchase Cost (9,600 units x ¥ 50) 200
. rg,ﬁﬂﬁ Ul‘litE <7 ﬁﬂ]
Ordering Cost | =280 Units 1.200
(480 Units
Carrying Cost 8 x X 5] Total Cost 4,82.400
\ 2 Juct at 2 48 per unit if 9,600 unitg arg
u .
- 1o sell the PO ost in such a case is comp,,
It is given to us that the supplier 1S r::gyThB amount of total € leq
obtained in 2 orders of 4,800 units eactl. »
below : 4,60,800
120
Pruchase Cost (9,600 units x 748)
Ordering Cost (2 orders x T 60) 12,000
, 4,800Units 5 5]
Carrying Cost > Total Cost 472920

is ready o0

lier
to us that the supp - order.

iven e
b its is obtained In on

requirement of 9.600 un
computed below !

Purchase Cost (9,600 units x 3 47)

Ordering Cost (1 order)
9600 Units
Carrying Cost ( : x 3 5]

Conclusion :

The best cours _ _
following other factors should be considered :

(1) Itis to be examined whether the product will be spoil
(2) Whether sufficient storage space is available 7

Answer to Q. No. 41. |
Annual Usage (U) = 2,000 units

Cost of one order (P) =T 50

ell the produc
?‘ha amount of total C

t at T 47 per unit if entjre
ost in such a case g

3
4,511,200
60

24,000

475,260

Total Cost

e of actionis to purchase at < 48 per unit. However, before taking final decision,

ed if stored for a very long period.

| 25
Inventory carryong cost per unit p.a. (S) = 20 x ﬁ =5
con= |2YP _ sz 2,000Units x50 _, 0 oo
S X5
The amount of total inventory cost at EOQ purchase level is — ¢
Purchase Cost (2,000 units x T 20) 40.000
. 2000Units | |
Ordering Cost =
g K 200 Unite. = 10 urders} 50)| 500
Carrying Cost [200 Units 7c
2 500
Total Cost 41,000

We are given in the question that the supplier is r

purchased in ea
below ch order. The amount of Total

eady to give disco 0L e are
Inventory unt of 3% if 1,000 units



purchase Cost (2,000 units x ¥ CA R. K. MEHTA

: 19.4
ordering Cost (2 orders x T 50) ) .
carrying Cost [1-000 Units 21 " aﬂ'm
2 xX19.4 x £ ]
100

conclusion : 2,425
The discount offer, if accepted, wij | Total Cost 1

' ea 41,32

he discount offeris ) dtoj .
¢ 10 be rejected. NCrease in total inventory cost by T 325. Therefore,

pns.t0 Q42

(i) AtEOQ level, the orderin

annual Usage (U)

Cost per order (P) = 2000 units
Storage and Carrying C = 20
g Lostperunitpa.(S) = 220« Tlt?_ a2
EOQ = '_ZEP_=J2“2.UUU>:20 0
° S 2 = 200 units
Total Inventory Cost
rchase Cost SZ.{]DG units x T 20) -
ost|2:000units ¥ 80.000
Ordering | 200 units/order %S0 Drder] = ¥ 200
_ (200 units
carrying Cost h > xT2p.u. p_a_l - v
. T _80.400
This information given in the question regaridng “lead time" is not relevant.
Ans. to Q-43. '
annual Usage (U) = 12,500 x 4 = 50,000 units
Cost per order (P) = T45 .
2
Carrying Cost p.u. p-a- (S) = 12 750 =0.18

2UP ‘F ~50,000 x 45 S
S 0.18

Existing ordenng and carrying cost is computed below 20
Ordering Cost (4 orders X345/ order)

500 units
Carrying Cost 12 5 2 x0.18p.u. p.a.) T 1128
1302

g and carrying cost i8 computed below

Ordering Cost | 5500 units / Order

| 2000 units / 0rdeT  0.18p.u p_a_l 450
Carrying Cost > -
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| Kgs.
Ans. to Q. 44. nit= 48.000
Cost per order (P) = 20 *75p =R

Carrying Cost per kg. p.a. (S)

s.
 con. |2UP _ [2x48.000~ 120 - 2,400 kg
) EOQ= Jj=== 2 inimum level when EOQ policy is adopted, |y jq

(i) The aggregate of ordering and carrying cost is atm
computed beluv_v :

. [_48.000kgs. o 120!mderJ - 22,400

Ordering Cos 2,400kgs./ order 200
- kg

1 x per g.pP- e

Carrying Cost - > - 4 800

the aggregate of ordernng and carrying cost Is computeg

(i) If 4,000 kgs. are purchased in each order,

below :
_ 48,000kgs. 7120/ urder} = ¥1.440
Ordering Cost _4'000 kgs./ order
' . = 24,000
Carrying Cost 4'002 K9S: ;22 perkg. p.a.]
- T 5,440
Hence, extra cost = 5,440 — 4,800 =T 640
Ans. to Q. 45. = 8,000 units
Annual Usage (U) = T200
Cost per order (P) -
i = Ju: - ? BD
Carrying Cost p.u. p.a. (S) =¥ 400 100
] _ ZUP _ 2 x B,UUO b 200 - ‘ 200 LlrlltE
(i) EOQ= \[ s - 30
(i) At EOQ level, the amount of total inventory cost is computed below :
Purchase Cost (8,000 units x T 400 / unit) = 32,00,000
. 8,000 units
Cost ' X 200/ order = X 8,000
crcering o8 (200 units / order " f )
Carrying Cost (ZUU:mts x < 80p.u. p.a,] = ¥ 8,000
; < 32,16,000

Discount of 4% will be available if 4,000 units are
inventory cost is computed below :
Purchase Cost (8,000 units x T 384 / unit)

purchased in each order. In such a case, total

Ordering Cost (2 orders x ¥ 200 / order : ; 30'72'333
. 4,000 units 20
Carrying Cost 3
ving [ 5 ’{ 334“100)] = T _1,53.600
< 32.26,000
The discount offer should not be acce ted as it : o
(% 32,26,000 - ¥ 32,16,000). Ped st may lead to increase in cost to the extent of % 10,000
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46
annual Usage (U)
CDSI per order {P}

Carr’ﬂng CESt per ream p.a. {S} - :".F gn ! 5

100
- —2UP=JZ“?2.UU015UD
() EOQ'\} S G

i) Re-order Level = Safety Stock + (Avera

72,000 reams
=NIL* [ 300 days ](20 days)

(il Total Inventory Cost (at EOQ level)
purchase Cost (72,000 pcs. X T 90 / pc)

Ordering Cost (

carrying Cost

72,000
4,000 "‘5”“)

[4.0005&37115 . 4.5}

Total Invent Cos 1% discon
burchase Cost (72,000 x X 89.10)
Ordering Cost (4 orders x X 500)

Carrying Cost

Hence, the discount offer should be accepted as it will reduce total inventory cost to the extent of

[18,0002ream5 [2 80 1055 )]

100

7 40,705 (X 64,98,000 — X 64,57,299).

Ans. to Q.47.
We know that —

Total Carrying Cost = (

EOQ

] x (Carrying Cost p.u. p.a.)

EOQ

29,000 = (—f]  3.6)

2

Hence, EOQ = 2x9,000 = 5,000 units.

Ans. to Q.48
Annual Usage (U)
Cost per order (P)

3.6

Carrying Cost p.u. p.a. (S)

2UP 2x4,000x135 _ 300 units
(a) EOQ = -——S—-'= 12

Total Relevant Cost

nrdering Cost

Carrying Cost

4,000units __ 135/ urder]
300 units / order

(300units 712 p.u‘p.a.]

CA R. K. MEHTA

72,000 reams
T 500

= 45

= 4,000 reams

ge usage rate) (Average Lead time)

= 4,800 reams

¥ 64,80,000
= X 9.000

< 9,000

< 64,98 000

T 64,15,200
L4 2,000

n

T _ 40,095

764,57 .295

4,000 units
135
= T 12

W

= ¥1,800

- 21800
3600
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(b) Revised EOQ = 2UP _ 2 x 4.000 units x T80 = 231 units
d S T12p.u.p.a.
Ordering Cost (4;;?[“ «T135/ urder) = 72338
Carrying Cost [231:;“":5 x T 12) = ¥1380
T 3724

(c) We are given that purchase price is ¥ 86 per
purchased in single order. Total Inventory Cost,

Purchase Cost (4,000 units x T 86 / unit)
Ordering Cost

Carrying Cost (4'0002"’"“5 xI12p.u. p.a.]

On the other hand, Total Inventory Cost at EOQ level is
Pur::hgsa Cost (4,000 units x X 90)
Ordering & Carrying Cost (computed above)

The discount offer should not be acceptd as it may lead 1o increase in cost to the e

([ 3,68,000 - ¥ 3,63,600).

unit if the Entjl_'
in such a case, IS com

n u

i u

e requirement of 4,000 units grg

T 3,44,000
NIL

T _ 24,000
¥ 3.68.000

' % 3.60,000

T _3.600
363600

puted below :

xtent of ¥ 4,400
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LABOUR COST

There are Iwo piece workers M

executed Which costs ¥ 15 pe r. X and Mr,

' r H . :
In a working day of 8 hours, PI::EE in materia|

overhead charges be ¥ 1 50 each px can complete 4 pieces and Mr. Y only 3. If the

useful to the factory. Also ingica i the two piece workers is more
may be employed. te the circumstances in which the less efficient worker

Y who are paid T 5 for each piece work

s 220 ordinary working hours and the rates of pay are for the

two fitters X 0.75 each Per hour, for labourer  0.25 per hour and for the boy T 0.25 per

hour.

AEC;S?::“:TEEEEWGUH; of the piece-work premium and show the amount of it which each
WO K - Ive when it is dwldeq proportionately to the time wages paid, and show in
each case Ine percentage the premium bears to the wages payments at ordinary rates.

The standard time taken to complete a pr oduct is 12 hours a 25 p. per hour.

Time wages are a!luwed to workers taking more than the time allowed. But workers who
complete the job in standard time or less receive a straight piece work rate plus 10%
bonus.

Calculate the wages earned by A, B, C and D who complete the job in 15, 12, 10 and 8
hours respectively. What will be their effective hourly rate ?

If the overhead rate chargeable to production is ¥ 0.50 per hour, what will be the “Cost of
Conversion” (Labour and Overhead) per piece produced by each worker ?

Calculate the earnings of A and B from the following particulars for a month and allocate
the labour cost to each job X, Y and Z.

A B
(i) Basic Wages 100 T 160
(ii) Dearness Allowance X 50 T 80
(iii) Employer's contribution to P.F. 10% 10%
(on basic wages)
(iv) Overtime 10 hours

The normal working hours for the month are 200. Ovelrtime is paid at duullgle the ttutalug
normal wages and dearness allowance. The employer's contribution to P.F. are at eq

rates as compared to employee’s contribution.

The two workers are employed on jobs X, Y and Z in the following proportions

Jobs
Z
X Y
‘ 30%
Worker A (excluding 40% 30%
Overtime) - o
50% 0
Worker B

The overtime was done oOn Job Y only.

I
~— -
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COST A;‘:COUHHNG 7.2 /’/;;tainﬁ 42 hours. The

k C

king Wee | o
o , and the 5 days wor s 12 minutes and his jop
yﬁk worker is paid 50 paise per hour " Tlace of work ! bs is as follows -

Q.6

7.~ Calculate the wages payable to a workman from the

az %

Q.8.

Calculate the total earnin
when he takes a) 320 ho

" Find out what an average laboure

Next 40% of time allowed
Balance

daily allowance for approved absence 1 ek to Vv
card shows that his time chargeable during the W€

Job No. Hours

305 20

310 10

320 8 tors. Show how his wages for the week

c
The unaccounted time s caused by abnormal fa

be dealt with in cost accounts.
- for a month of 208 hours,

r costs the employer

assuming 8 hours a day, from the following: ¥ 60
Average basic wage per hour Z 10
Average D.A. per hour | 24
Number of unpaid holidays, in @ year 3

festivals —in a year
if pay (in a year)

d7 -1% of basic wages and D.A.
4

Number of other unpaid holidays-
Number of days sick leave with ha

15

Employer’'s contribution to provident fun

Other amenities per month 210

following data:

Days Hours Worked Days Hours Worked
Monday 8 Thursday 11
Tuesday 10 Friday 9
Wednesday 9 Saturday 4
Normal Working Hours 8 hours per day
Normal Rate Z 5 per hour
Overtime Rate Upto 9 hours in a day at single rate and over 9 hours in a day
at double rate
Or

Upto 48 hours per week at a single rate and over 48 hours at
double rate, whichever is more beneficial to the workman.

The standard time allowed for a certain piece of work is 300 hours. Normal wages is paid

at time rate which is ¥ 0.60 , ,
applicable : per hour and bonus plan on the following lines is also

Time Saved Bonus

Upto 20% of time allowed 10% of time saved

20% of time saved

30% of time saved

gs of a worker over the p
| : .
urs; b) 255 hours; ¢) 15Upr:i?;f work and his earnings per hour

. d) 90 hours respectively.
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Q.12

Q.13.

Q.14,

—
— 13
CA R. K. MEHTA

An employee working under g bonus
S

time IS 60 hours, CElEUIat Chema saves : ‘
incentive bonus of 10, unetrt:-l = rale per 10 hours in a job for which the standard

, ; e hour ~
; Y ra
Emclenﬁjthita‘fg;’ﬁd' and a further | '€ is payable when standard time (namely, 100%
excess % efficiency js payable. onus of 1% on hourly rate for each 1% in

Assume that the normal|

rate payment is < 5 per hour

(ii) Actual production during a month :
X-800 units; Y-700 units; z-9g0 units,
(iii) Piece-work rate per unit of actual productio
(iv) D.A.X 40 per month (fixed).
(v) House rent allowance - 7 20 Per month (fixed).

(vi) Additional production bonus 3
exceeding 75% of standard.

n 15 paise.

t the rate of 5 for each percentage of actual production

gczTnpzn% ;:‘;‘Ir}:l?ryhs Its workers for g _smgle shift of 8 hours per day for maximum of 25
ays Im ¢ . |he standard output is 40 units per day. The basic wage rate is % 3 per
unit subject to minimum of ¥ 80 per day. Dearness Allowance is Z 40 per day. If the level
E; ;ﬁt:::;ency IS more than 80%, bonus of ¥ 50 for every 1% increase above 80% is

The details of performance of 2 workers for a particular month are as follows —

Worker Days worked Output (units)
A 25 820
B 18 400

Compute total earnings of both the workers for the month.

The standard hours of job X is 100 hours. The job has been completed by Amar in 60 hours,
Akbar in 70 hours and Anthony in 85 hours. The bonus system applicable to the job is as

follows:

Percentage of time saved to time allowed
Saving upto 10%
From 11% of 20%
From 21% to 40%

From 41% to 100%
The rate of pay is ¥ 10 per hour. Calculate the total earnings of each worker and also the rate

of earnings per hour.

Bonus

10% of time saved
15% of time saved
20% of time saved
25% of time saved

in a week's time. The guaranteed weekly wage payiment for
ted time to produce one unit is 15 minutes which is raised
me. What will be the earnings per hour of that

owan bonus scheme ?

A worker produced 200 units
45 hours is ¥ 81. The expecicu
further by 20% under the incentive sche

worker under Halsey (50% sharing) and R
through workman A or B. A takes 32 hours to complete the job

A job can be completed EitherThE standard time to finish the job is 40 hours.

:':'hile B finishes tin ?0 ?Em::ﬁe for both the workers. In E_ldditiqn w:_:nrktTan A Ls eer:tig‘eji;z
r iodhlnrs Sy radem to Halsey Plan (50% sharing) Wh“ESE IS f?;gou?"#:u? wErk ed. The
pECEWE it h gads are absorbed 0N the job at T 7.5V pe N .

i, The works @ o to T 2,600 irrespective of the workman engaged.

factory cost of the job COMES .
nput.
Find out hourly wage rate and cost of raw material Inp

\\—_——___—.——————__

-
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Q.15. A skilled worker in XYZ Ltd. is paid
standard time per unit for a particular
under the Rowan Plan and he had earned an €
What could have been his total earnings and effe
Halsey Incentive Scheme.

0 per hour. T
e rate of T3 ) he
a guarar!tEidh::rgs_ Mr. P has been paid wageg
product IS te of Z 37.50.

tfective hourly @
ctive hourly rate. had he been put o

arnings of @ worker for a week

out (e gey premium scheme (50%

Q.16. From the following particulars you are req L piece-rate: c) Hal

under a) Straight piece-rate, b) differen

sharing) and d) Rowan premium scheme. o
Weekly working hours *7.50
Hourly wage rate _ 04 minutes
Normal time taken per piece 120 pieces
Normal output per week 150 pieces
Actual output per week 80% of piece-raté when output l?-eluw
Differenti_ﬂl piece-rate normal and 1 20% of piece rate

(on all pieces) when output above normal.

s considered to introduce the

. : : kers. It i
Q7. ZED Limited is worling EY splolg ?ﬂg?dsg%r bonus) or Rowan scheme of wage
he increasing demand for the

incentive scheme-either Halsey scheme (W
' j e upt
payment for increasing the labour productivity to COP ulilld ® in about an average 20%

. i 1 c
roduct. It is believed that proposed incentive scheme rdubohd ‘
i?&creﬁte over the present earnings of the workers; it could act as sufficient incentive for them

to produce more.
Because of assurance, the incre

ase in productivity has been observed as revealed by the

figures for the month of April, 2014, ¢ 30
Hourly rate of wages (guaranteed)

Standard time to produce one unit 1.9875 hours
Number of working days in the month 2:

Number of working hours per day of each worker
Actual production during the month
Required :

(i) Calculate the effective rate of earnings under the Halsey scheme and the Rowan scheme. |

(i) Calculate the savings to the ZED Limited in terms of direct labour cost per piece as
compared to straight piece rate.
(iiiy Advise Zed Limited about the selection of the scheme to fulfil the assurance.

6,120 units

Q.18. The existing incentive system of a company is as under :-
(1) Normal working week: 5 days of 8 hours each plus 3 late shifts of 3 hours each.

(2) Rate of Payment
Day Work : ¥ 160 per hour
Late Shfit : ¥ 225 per hour.

(3) Average output per operator for 49 hours week : 120 articles

In order to increase output and eliminate overt;
ertime, : .
of payment by results. The following information is ;LE?: ET“‘UE to switch on to a system

(1) Time rate : ¥ 160 per hour

(2) Basic time allowed for 15 articles : 5 hours

(3) Piece Work Rate : Add 20% to basic piece-rate
(4) Standard time per piece for Rowan and Hal
(5) Output obtained by working 40 hours in 3 week: 135 articles
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F/“/ A Company is undecided as to

Q.24
\.— ;

Q.22

L

}ﬁ.

- taken by workers A, B and C are 8 hours. B h

prepare a statement showi
produced and labour cost Ng hours CA R. K. MEHTA

(a) Existing time-rate DT Srlicies "";?kﬁidﬁlmkly eamings, number of arficies
(b) Straight piece-work 0 Syetom:-

(C) Rowan System

(d) Halsey System

particulars have been compiled in

kind of
P management wage scheme should be introduced. The following

respect of
three systems, which are under consideration of

Workers
Actual hours worked in a
Hourly rate of wages woek EAE 43 c
Production in units : 6 ’ g - :;;
Product P ; .
Product Q 21
60

Product R 2 g 80

49 28 -

Standard time allowed per unit of each product is :

Minutes P Q )
For the purpose of piece rate, e , 12 18 !i 30/
, B3 i -
e wages of each worker under :ch minute is valued at ¥ 0.10. You are required to calc '

() Guaranteed hourly rate basis.

(i) Piece work earnings basis, but gu i i
his earnings are less than 50% ?:f abr:;:;e::?m 75% of basic pay (guaranteed hourly rate} if

(iii) Premium bonus basis where the worker receives bonus based on Rowan Scheme.

Calculate the eamning of workers A B. and C under i ,
. . . B, straight piec '
multiple piece-rate system from the following part :.g piece-rate system and Merrick s

Normal Rate per hour T 5.40
Standard Time per unit 1 minute.

Output per day is as follows -

Worker A - 390 units

Worker B - 450 units

Worker C ~ 600 units
Working hours per day are B.

a job is 6 hours and hourly wage rate is T 30. The time actually
ours and 4 hours respectively. Calculate total

sk and Bonus System.

Standard time 10 complete

wages and effective hourly wage rate under Gantt Ta

Hourly wage rate = %60

Standard time = 16 hours

Actual ime = 9 hrs.

Compute total wages payable under -
(a) Barth Scheme

(b) Bedeaux System.

0 units. Actual output in 10 ho

10 hours is 24 ’
gl:giaezdhg::p {u:tcti:lp Wwages under Emerson Plan

ute Total

urs is 264 units. Wage Rate is
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> ihe actual output is 100 units per hour, |

Q.24 : The Standard Output is 80 units per hour, whereas, _ ute total Wages of the da
\/2‘/ g . ed 800 units. Comp ouris 2 160 . y

a day of 8 hours, the worker actually produc _ ate per h
according to Taylor's Differential Piece Rate System if wage
rates for the quarter endeq

DUEr o
Q.25 The cost accountant of Y Ltd. has computed Iat?nl:lr turn " Elux methad’, Replacemen
(2T R March. 2011 as 10%, 3% and 5% respectivel L O o oaced during (at quarter s

method' and_'Separation method'. If the D T
30. Find out the number of (1) ﬁgrke@_mf?. and (2) WOrKei=.-=

n, calculate Labour turnover rate :

Q.26.. From the following informatio -
1\/ No. of workers as on 01 :D1:231§= ‘BITGDD
No. of workers as on 31:12:2012 = =, re discharged. 1,500 workers were
hile 320 workers W€ ruited because of exits and the rest

300workers were rec
pansion plans.

art No. Z-235 from the following data :

During the year, 80 workers left w
recruited during the year. Of these,
wefe recruited in accordance with ex

Q.27. Calculate standard labour time for machining p 100 pieces
- St::nudpa;;l t;att:h size 64 minutes
Operating time (each piece) :
Fixing job on machine 1% m::ﬂt::
Cutting time :
3 minutes

Removing job from machine

Allow 10% on total operation time for inspection during progress and allow further 5% on total

time for fatigue.

" The time taken for a particular operation Dy operator X on three different counts was 24,22

lea i
\/ and 27 minutes while that of operator Y was 20,23 and 26 minutes. It has been ascertained
t the rating of X is 55/60 and that of Y is 70/60. The allowance for fatigue is 15%. Calculate

tandard time per count of both the operators taken together.

Q.29. Bharat Garment Corporation produces garments of the same size and style. Employees are
\ paid wages at ¥ 2.50 per hour for an eight hour shift. They produce five units per hour per
employee. The overhead in this department is ¥ 3 per direct labour hour. The employees and

the management are considering the following piece-rate wage proposal :

If the employee produces upto 45 units in a da ‘ ' -
, : _ y of 8 hours, his unit wage rate is 50 pai
his production ranges from 46 units to 50 units, the unit wage rate is 51? paise on allp:r;i: II;

production ranges from 51 to 60 units, the unit wa i i
. _ ' ge rate 1s 57.5 pa ;
production per day exceeds 60 units, the unit wage rate is 60 paise Dr? Ell'lsin?tg all units. If the

Prepare a statement showing gain
40, 45, 50, 55, 60 and 65 units.

t_,Q‘EID./ An article passes through five hand operations as follows -
Operation No.  Time perarticle ~ Worker

to the employee and the employer at production level of

Wage rate per hour

1 15 minutes
A
2 25 minutes B ; i
3 10 minutes C 550
4 30 minutes D * 040
9 20 minutes E :, 0.35
The factory works 40 h .
ours a week .
Prepare a statement sh and the productio '
oW . n tar
required, the labour cost Ing for each operation ang in tc?tg e D dozens per week.

the number of operators
Per week to produce the
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a3
v labour turnover last yeg, ANS 10 have 4y, 3
Idea of prom |

Last year sales accounteq g

actual hours worked b ¥ 68,0000
y the (; VU0 and p
turnover, total 75,000 po direct lapgyy force f:a':t:lgu was 20%. The total number of
hours Included 30,000 hours atir: 45 lakhs. As a result of labour
altributab -9 Were lost The actual direct labour

osl as a result of

hours were unproduc le to

1. Settlement cost dt:l‘;EtDTlr;Ea Cosis Ir‘u:'-irreducaérrl]lggq:zwtfEErmls, out of which half of the
2. Recruitment cost " 27 42{;1 S atour tymover. 1

3. Selection cost 15'.?25

4. Training cost 12,750

Assumtr'!g that the 16,105

(1) Average output per week = 48
(2) Saleable value of Output=2 6 .DD 000
(3) Contribution made by output tnwe‘lrds.

The Board of Directors plans 1o fixed expenses and profit =¥ 2,40,000.

effect of this will be to reduce th'mpfnve the business at a capital cost of ¥ 1,60,000. The
per individual employee by 60¢ € Nnumber of employees to 120 and increasing the output
y 60%. The Board intends to offer a 1% increase on the piece-

ork rate | i
work of X 1 per unit for every 2% increase in average individual output achieved.

In order to sell the increased output, it will be necessary to decrease the selling price by 4%.

Calculate extra weekly contribution resulti
: - _ esulting from proposed c
Board's decision of introducing the change. 9 proposed change and evaluate the

9;,/*’During audit of accounts of G. Company, your assistant found errors in the calculation of
the wages of factory workers and he wants you to verify his work.

He has extracted the following information .

(i) The contact provides that the minimum wage for a worker is his base rate. It is also
paid for down times i.e., the machine is under repair or the worker is without work.
The standard work week is 40 hours. For overtime production, workers are paid 150
percent of base rates.

(i) Straight Piece Work —The worker is paid at the rate of 20 paise per piece.

(iii) Percentage Bonus Plan - Standard quantities of production per hour are estabnslhed
by the engineering department. The worker's average hourly production, determined

& B @ 4 ¥ 5 f
trom his total hours worked and has production, s divided by the standard quantity
production to determine his efficiency ratio. The efficiency ratio is then applied to his

base rate to determine his hourly earnings for the period. |
(iv) 'E_-rr';ersun Efficiency Plan — A minimum wages is paid for pradqchun upto 66 213% of
the standard output, he is paid bonus as per the following table :

Efficiency Level Bonus (on Minimum Wages)

Nil
Upto 66 213% 0%
Above 66 2/3% to 79% il
80% to 99% 45%

100% - 125% pertaining to certain workers of

Your assistant has produced !
weekly pay roll :

he following schedule

—~——

e e TR TT L
PR e R R e el T 1
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Base Gross wy
ard Units
Workers Wage Incentive Plan  Total  Down Time Units  Stand Rate/hr. a8 per ;::
Worker Hours Hours Pmd“ﬁ;: - ¥1.80 ¥ 85
A Straight piece work 40 ° :55 - 1.80 o
B Straight piece work 46 = po - 1.80 85
Cc Straight piece work 44 - 250 200 2.20 120
D Percentage bonus plan 40 4 300 2.10 93
40 _ 240 2 00

E Emerson e 500 500 . 12§
F Emerson -

* Total hours of B include 6 overtime hours and total
Compute whether the of workers' wage are coir

Q.34 Your organisation is experiencing

management would |
to such labour turnover. Following figures are a

The direct man-hours include 9,

50%

On the basis of above data, prepare a comparative state

ect or not.

a high labour

like you to submit a report on the 10SS

Sales Z 600 Lakhs
Direct Material Z 150 Lakhs ”
Direct Labour 7 48 Lakhs on 4,80,
Other Variable Expenses T 80 Lakhs

Z 20 Lakhs.

Fixed Expenses
,000 man-hours spent on
hich were productive. Further, during the yea

d to T 1 Lakh.

B ——

vis the profit which would have been realised had there been

A company's basic wage rate is T 60

95./

(1) Evening — time and one-third

(2) Week end — Double the time.

During the last year the following hours were worked -
(1) Normal time = 2,20,000 hours

(2) Evening time = 20,000 hours

(3) Week-end time = 10,000 hours.

The following times have been worked on three jobs -

Job A Job B
Normal hours 3,000 9,000
Evening hours 300 .600
Week-end hours 100 50

hours of C includes 4

vailable for your €

turnover in recent years and
suffered by the Company due

onsideration:

000 man hours

trainees and replacements, only

r 12,

work could not be availed of because of delayed_ replacement. The cost incurred due tn_

separations and replacements amounte

000 man-hours of potential

T

ment showing actual profit vis-a-

no labour turnover.

per hour. The overtime rates are —

Job C
4,000
1,050

300

You are required to calculate the labour cost chargeable to each Job if

(1)
(2)

Overtime is worked regularly throughout the year
Overtime is worked at the request of the customer
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ING T
osf!ﬁ'caunr = CA R. K. MEHTA
¢ A company USes an old metoq

i of -
estimates of operating details for the Machining a

year 2013 - 201
0. of parts to be manufactured gng sold 30,00
: qw materials required per Part: 10 kg, @ t?’! Eg
average wWage rate per worker : 40 '

PEr day of 8 hrs,
gtandard time required to man

ufacture one part - 2 h
overhead rate X 10 per labour hoyr. P rs.

Material handling expenses - 29, of the value of raw materials.

The company has suggestion box scheme
saving in labour cost is passed on to

response to this scheme, a suggestio

ecial )ig in the manufacture of the a
zﬂe year is ¥ 3,000 and

Part manufacturing for sale. The
4 are as under °

and an award equivalent to three munlh‘E
the employee whose suggestion is accepted. In
N has been received from an employee to use ﬂf
foresaid part. The cost of the Jig which has life ©
the use of the Jig will reduce the standard time by 12 minutes.
Required :

i e
() compute the amount of award payable to the employee who has given th
suggestion.

‘ the
(i) Prepare a statement showing the annual cost of production befnrelzr;gmzlér
implementation of the suggestion to use the Jig and indicate the annua
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COST ACCOUNTING 70—

Q.1.
Ans.

Q.2.

Ans.

Q.3.

Ans.

PR .

QUESTIONS

IMPORTANT THEORETICAL

labour cost?
man resources of g,

What is Labour cost ? What is the obj
kers, salary of mangers anq

Meaning : Labour Cosls are “Costs Incurre

enterprise.” For example, wages paid 10 [::Em
officers. cost of training office staff etc. are

st are:

Objectives : The objectives of the study of I?bﬂmu::rkem i
(a) To keep the total amount of wages paid to

industry standards.

(b) To motivale workers an
unit cosl.

(c) To contribute to ov

t reasonable levels based gy

s to increase output, and reduce pey

d harness their energie

itabill -welfare.
erall nrganisatiunal pruﬁtablhty and employee

Define Direct and Indirecl Labour cost. | | |
Direct Labour Cost : It is the “cost of labour expenrded in alte;réga ;ir;.ei gsgﬁﬁggt'”“'
c:rﬁ:usitmn or condition of a product.” It is directly Ettnbml?t:uea a:s oo guurers direi?ld
allocated to the cost unit of cost centre. For example, all c?nstructinn urers dire y
engaged in production and wages paid 10 workers engaged in C ect

wages.

Indirect Labour Cost: it
not directly attributable to

employees In Purchasing Dej
Foreman and Supervisors, Maintenance

s the “cost of labour not directly engaged In prnductmn*'_' It is
the cost unit or cost centre. For example, wages and salaries to
Department, Stores, Office and Tlnme-Keepmg Department,
Personnel elc. are indirect labour cost.

How will you deal with idle time cost in cost accounts ? How can you cun'grul _such cuals_ ?
Idle Tim2 : When workers are paid on time basis, some difference IS likely to arise
between the time for which they are paid and the time they actually spend upon
production. Idle time may be defined as that time for which wages are paid but no

production is obtained.

Treatment of Idie Time Cost : From the point of view of treatment in cost accounts, idie
time can be classified into normal and abnormal idle time.

Normal Idle Time : It refers to that loss of time which is generally unavoidable and is
bound to arise. For example, time spent in setting the machines, adjusting the tools,
Omoving from one job to another, tea breaks (if necessary), personal needs, etc. It will be
seen that this wastage of times is of such a nature that it cannot be avoided and its cost
;5 therefn_re._ an expenses which is to be directly charged to the job by inflating wage rate.
Dnver:;ﬁzgd:m not feasible, cost of such normal idle time is to be treated as factory

Abnormal Idle Time : Where, due to some abnormal causes the time is lost for which

employer must pay, the cost of abnormal idle time sh
- : ould be col
written off to Costing Profit & Loss Account. (e.g. power failure stri}{l::teefii:)Eparately one

Contro/ of Idle Time : For cont - ;
categories rol purposes, idle time should be divided into three

Idle Time Cost

(@) Cost of normal & controllable |d| i Accounting Treatment
. e
Time (e.g. Machine Breakdown (@) Itis treated as part of.cost and hence

waiting for work, tools, materials or treated as part of production overheads
Instructions)

(b) Cost of normal but uncon
. trollable | (b '
Idle Time (e.g. set up time for b) 1t is treated as part of cost and hence

charged directly to job by inflating wage

Rara-r i
LIy

SRR . . L s
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machine, i -
!Nterval between ora = CA R. K. MEHTA |

and another, pers Ne job ra
' Oonal . fo
Neels) es (for example if wage rate is T 18

| gﬁ: hour and workers' effective hours

(c) Cost of abnormal |gle 5 —— thalpg 10 hours work is 9 hours only,
due to abnormal rea:unTlmE (e, W’Tmﬂﬂrate will = T 20

S such g Ol treated as part of cost and

power failure, strike h
flocd, etc.) 8, lock oyt fire, Ai‘;zirﬁhﬂfglad to Costing Profit & Loss

e

pefine Overtime. Why is it nec
: ess
treated in COSt accounts ? arY ? How can overtime be controlled ? How the overtime is

overtime work is work do
Ans- ) ne beyond nor _

payments of overtime wage mal working hours. '
extra cost and should be 928 by double the normal r — Facturlug Al skt i
resorted to only whe ate of wages. Overtime work involves

Treatmenl of Overtime Cost : The treatmers N extremely essential.

under which it arises. The followi of overtime cost depends upon the circumstances
circumstances : Ng treatment will be given to the uvertirgeu cost in t?\& following

(a) Where the customers agree to be .
. a
it should be charged direct to the ju:::t:f ﬁg::z ;ls:rg:n?:laﬁzglme due to urgency of work,

b) When overtime work | '
(b) ork is required to make up any shortfall in production due to some fault

of management or some unex :
and Loss Account. pected development, it should be charged to Costing Profit

(c) Overtime required because of some abnorm itions i
should be charged to Profit aid Loss A“nunt_al conditions like floods, earthquake, elc.,

(d) Overtime required for seasonal pressure should be treated as production overheads.

Controf of Overtime : It is important that proper control over the overtime work should be
exercised in order to keep it to the minimum. The following steps may be taken for such

control :
i) All the overtime work should be duly authorised by a competent authority.

i) Overtime cost should be recorded separately in order to investigate and to have proper
planning for future.

il When overtime becomes a regular and permanent feature, it should be properly enquired
into and, if necessary, more workers may be employed or shift working may be

considered.
iv) If overtime is due to lack of machines, steps may be taken to install more machines.

understand by Labour Turnover ? How is it mgagurgd ? What are its
are the remedial steps you would suggest to minimise its occurrénce ?

causes? what
' ' ' isation that some
over : ltis a normal feature in every business organisatic S

- ::?;eur; I:::: their jobs and SOME new workers take their place. This mobility or
change in the labour force is  known as labour turnover. | o
Labour turnover may be defined as the number of workers left during t&e penr.r:::ﬁ ":t
relaﬁgn to the average number of workers employed c_lurttpgnthe period. In other words,
is rate of displacement of labour employed In Ene?qrtg:f'}:t?uﬁr o
There are three different methods of measurem

as follows . h
o 4 ly used method. Under this
. This is the most common ‘ _
1. Separation Rate M'-"th.”t:'n écITE:hLY dividing the total number of sePOE:jratluns during a
method, measurement 'S n the roll during that perioc.

1s 0
period by the average number of worke

Q5. What do you

over which may be given

e e B L e o Y



